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SAMPLE QUESTION PAPER  
ENGLISH COMMUNICATIVE (Code No. 101) 

CLASS-X-(2024-25) 
TIME- 3 Hrs.           Max. Marks-80                                                                                                        
 
General Instructions: 
Read the following instructions very carefully and strictly follow them: 
  

I. This question paper has 12 questions. All questions are compulsory.   

II. This question paper contains three sections: 
Section A: Reading Skills,  
Section B: Writing Skills  
Section C: Grammar 
Section D: Literature Textbook 

III. Attempt all questions based on specific instructions for each part. Write the correct 

question number and part thereof in your answer sheet.    

IV. Separate instructions are given with each question/part, wherever necessary.   

V. Adhere to the prescribed word limit while answering the questions. 
 

                                              SECTION A: READING                                     (22 marks) 

1. Read the following passage 
 

12  

(1) In a world dominated by digital technology, the way we capture, store, and share memories 

has evolved significantly. Traditional photo albums and digital photo galleries are two 

primary methods for preserving personal and family memories, each with its own unique 

characteristics. Though both share the common goal of keeping memories alive, they offer 

different experiences, advantages, and disadvantages. 
 

(2) Photo albums represent a tangible and tactile way to capture memories. A physical album 

filled with printed photographs provides a sense of reminiscence and can be passed down 

through generations, becoming a family heirloom. The process of selecting photos, printing 

them, and placing them in an album can be a personal and intimate experience, allowing 

one to reflect on the moments captured. 

 

(3) One of the primary advantages of photo albums is their permanence. Unlike digital files, 

which can be lost or corrupted, physical photographs in a well-maintained album can last for 

decades, if not centuries. Albums also provide a sensory experience; flipping through the 

pages, feeling the texture of the paper, and smelling the aging prints can evoke strong 

emotional responses. 
 

(4) Additionally, photo albums require little to no technology to enjoy. This makes them 

accessible to a wider range of people, including those who may not be tech-savvy. Albums 

can be taken to family gatherings or passed around during holidays, creating a shared 

experience among family and friends. 
 

(5) However, photo albums come with certain disadvantages. They take up physical space and 

are vulnerable to damage from environmental factors like water, fire, or sunlight. Albums are 

also limited in capacity; once they are filled, creating additional albums can become 
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cumbersome. Furthermore, the process of creating a photo album can be time-consuming 

and costly. Printing photographs, purchasing albums, and maintaining them can add up.  

 Digital photo galleries have transformed the way we capture and share memories. With the 

rise of smartphones and digital cameras, taking and storing photos has become more 

convenient than ever.  
 

(6) The main advantage of digital photo galleries is their convenience and capacity. With a 

single device, you can store thousands of photos and access them from anywhere. Digital 

galleries also offer powerful organization tools, allowing users to sort and categorise their 

photos with metadata, tags, and dates. Sharing digital photos is effortless; you can send 

them via email, social media, or cloud-based platforms, enabling friends and family to enjoy 

memories instantly. Digital galleries also allow for easy editing and enhancement of photos, 

helping to correct imperfections and improve quality. 
 

(7) Despite their convenience, digital photo galleries have their drawbacks. The reliance on 

technology means that photos can be lost due to hardware failure, software corruption, or 

accidental deletion. Additionally, the ephemeral nature of digital files makes them less 

tangible and more prone to being overlooked or forgotten among the vast array of digital 

content. Security and privacy are also concerns with digital galleries. Sharing photos online 

opens up the risk of unauthorized access or data breaches, leading to potential misuse of 

personal images. 
 

(8) Ultimately, the choice between traditional photo albums and digital photo galleries depends 

on personal preferences and priorities. Photo albums offer a tactile, enduring connection to 

memories, while digital galleries provide convenience, flexibility, and ease of sharing. A 

combination of both methods can offer the best of both worlds, ensuring that cherished 

memories are preserved and enjoyed for years to come. 
Created for academic usage/ 560 words 

 
Answer the following questions, based on the passage above. 
 

I What do traditional photo albums and digital photo galleries share in common? 
A. Both use digital technology to store photos. 
B. Both are methods of preserving personal and family memories. 
C. Both are tangible and can be passed down through generations. 
D. Both rely on external power sources to function. 
 

1 

II What aspect of traditional photo albums makes them a cherished item for families? 
A. The convenience of digital technology. 
B. The ability to store thousands of photos. 
C. The sense of nostalgia they provide. 
D. The option to access them from anywhere. 
 

1 

III Complete the following suitably.  
The personal experience associated with photo albums is important because _____.  
 

1 

IV Rectify the given false statement. 
The main benefit that photo albums have over digital files is the sensory experience. 
 

1 
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V List any ONE way the photo albums can contribute to an enjoyable family time. 
 

1 

VI Why has it become cumbersome to create additional photo albums, according to 
paragraph 5? 
 

1 

VII Why does the writer say that digital cameras, have made taking and storing photos ' 
more convenient than ever?' 

2 

VIII How can we say that digital photographs may not always represent reality? 
 

2 

IX Explain why we can say that the writer did not choose sides? 2 
 

2.  Read the following report.   
 

10   

Student Council Unveils School's First Student-Made Drone Programme 
                                                                         -by Tanveer Siddiqui, Secretary, Student Council 
 
Bengaluru, Nov. 10 – The Student Council at ABC School has initiated a ground-breaking project 

involving the construction and operation of drones made by students. The programme was 

introduced at the school's monthly public presentation on November 7, attracting significant interest 

from students, faculty, and parents alike. 

Mr. J. Rao, the school's vice-principal, and the head of the Student Council, Priya Desai, kicked off 

the event by explaining the motivation behind the project. They noted that the programme aims to 

provide students with hands-on experience in technology and engineering while promoting 

teamwork and creativity. The Student Council collaborated with local engineers and technology 

experts to ensure safety and compliance with regulations. 

During the event, the council members demonstrated a live drone flight, showcasing the capabilities 

of the drones built by the students. They performed a variety of manoeuvres, including aerial 

photography and obstacle course navigation.  

The Student Council has planned several future activities to keep the momentum going. These 

include a drone-building workshop, a photography contest using the drones, and an inter-school 

drone race in the spring. The programme is designed to engage students in innovative ways and 

foster a deeper interest in technology and engineering. 
Created for academic usage/ 195 words 

 
Answer the following questions, based on the report above. 
 

I Complete with a suitable reason. 
The most likely reason why the student council secretary was chosen to draft the 
report was because_____.  
 

1 

II Fill in the blank with an appropriate word/ phrase. 
The term ‘ground-breaking’ project suggests that the project is _____ and reflects a 
level of creativity. 
 

1 

III What was the primary goal of the Student Council's drone programme at National 
Public School? 
A. To encourage teamwork and creativity among students 
B. To demonstrate the latest drone technology to the public 
C. To generate interest in aerial photography 
D. To promote engineering skills and provide hands-on experience                                                                                                     

1 
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IV Who did the Student Council turn to, to ensure safety and regulatory compliance?  
1. Faculty and parents 
2. Vice-Principal 
3. Local Engineers 
4. Head of Student Council 
5. Technology experts 

Select the correct option 
 
A. Only 1 
B. Only 5 
C. 2 and 4 
D. 3 and 5 
 

1 

V What was the most likely purpose of showcasing the capabilities of the drones during 
the event?    
                                                                                                     

1 

VI What in the passage suggests that the live drone demonstration aimed to engage and 
excite the audience? 
                                                                                                    

1 

VII What skills are the students expected to develop through the photography contest 
using drones? 
 

2 

VIII Explain how the Student Council's drone programme at National Public School align 
with the school's goals of promoting holistic education. 

2 

 

                                             SECTION B: WRITING SKILLS                              (22 marks) 

3. You are Preeti Saraswat from Uttarakhand. Write an e mail, in about 50 words, to your 
principal, requesting early commencement of winter uniform usage for all. Include a 
valid reason.  
You may copy the given template to write your email. 
 

3 

from:  

to:  

Cc: principal.vjschool@gmail.com 

date: February 20, 2024, 05:10 PM 

subject:  

 
 

4. Write a factual description, in not more than 100 words, of a puzzle that you purchased 
for yourself recently.  
 

4 

5 A Write a letter to the Mayor of your city, addressing the issue of carelessness in 

transportation habits and advocating for initiatives to promote car-lessness in the 

community. Deliberate on the environmental, health, and social benefits of reducing 

reliance on cars and propose specific measures to encourage alternative modes of 

transportation. Also, emphasise the importance of community engagement and 

collaboration in achieving a more sustainable and liveable city. 

Use ideas from Unit 3: Science, along with your own to write this letter in not more 

than 120 words. 

7 
 
 
 
 
 
 
 
 
 OR 
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5 B Write a letter to the Director of the Geological Survey advocating for concerted efforts 
to preserve and protect geological heritage sites. Discuss the importance of these 
sites and highlight the threats they face. Propose specific measures to conserve these 
valuable natural assets and request her for proactive action to safeguard them for 
future generations. 
Use ideas from Unit 4: Environment, along with your own to write this letter in not more 
than 120 words. 
 

 
7 

6 A Tourism in India has been on the rise. Write an article in about 150 words, as Gaurav 
Taneja, X-B, discussing the surge in tourism in India since 2021, highlighting the key 
factors contributing to its growth. Propose additional recommendations to further 
boost tourism and predict the trajectory of the industry for the upcoming decade. 
Use the given cues, along with your own ideas and those you may have gathered from  
Unit 5: Travel and Tourism, to create this article. 
 

 
 
 
 

 

8 
 
 
 
 
 
 
 
 
 
 
 
 
 

8 

OR 
 

6 B Write an article, in about 150 words, as Gaurav Taneja, X-B, advocating for the 
implementation of inclusive education practices in schools, focusing on the benefits 
for students with diverse learning needs. Share advantages and discuss the 
importance of fostering an inclusive school environment. Additionally, propose any 
one recommendation for policymakers and educators to promote inclusivity in the 
education system.  
Use the given cues, along with your own ideas and those you may have gathered from  
Unit 2: Education, to create this article. 
 

 Benefits of inclusive education for students with diverse learning needs 
 Importance of fostering an inclusive school environment. 

 

 

SECTION C: GRAMMAR (10 marks) 

7. 
 

A 

Complete the tasks (A) to (C), as directed 
 

Fill the blanks (I) -(III) with the appropriate option from those in the brackets.  
 

In order to maintain a balanced lifestyle, we (I) ____ (can/ should/ must) prioritise 

self-care practices, such as regular exercise and healthy eating habits, to promote 

overall well-being. 

Individuals should also (II) ____ (have engaged/engage/ being engaged) in 

mindfulness activities, such as meditation or yoga, to improve mental health. 

Additionally, seeking support from friends, family, or mental health professionals (III) 

_____ (every / some / any) time one feels overwhelmed can contribute to a 

balanced and fulfilling lifestyle. 

 

 
3x1=3 

B  In the following paragraph, one word has been omitted in each line. In your answer 

sheets, remember to write the missing word along with the word that comes before 

and after it, as shown below. The first one has been done as an example. 

4x1=4 

 Factors contributing to the tourism boom. 
 Additional recommendations to sustain and enhance tourism 
 Prediction for the future of Indian tourism: Plus, and Minus 
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No.                                    Text Word 

before 

Omission Word 

after 

e.g. The science is clear: to avoid worst  avoid the worst 

 

I impacts of climate change, emissions to be     

II reduced by almost half by 2030 and net-zero    

III by 2050. Achieve this, we need to end our reliance    

 on fossil fuels and invest in alternative sources of energy  

IV that clean, accessible, affordable, sustainable, and     

 reliable.  

C Do as directed. 
 

 

    3 

a) Rearrange the following jumbled words/phrases in the given dialogue to create a 
meaningful sentence.  
Person X: We, as a nation are integrated into one unit. You know this, right? 
Person Y: Er… I do but I’d appreciate knowing a little more please. 
Person X: (i) A NATION INTO / NATIONAL INTEGRATION, / UNIFYING DIVERSE 
COMMUNITIES / A COHESIVE WHOLE, /REFERS TO /IS ESSENTIAL FOR / 
WITHIN / FOSTERING SOCIAL HARMONY /THE PROCESS OF/ AND 
STABILITY /WHICH/ 

       1 

b) Report the dialogues to complete the paragraph that follows. 
 

 2 

Student 1: I've decided to become a mathematician. 

Student 2: Really? Why? 

Student 1: Because I already excel at dividing my attention between homework and 
video games! 

  
Student 1 told student 2 that they wanted to become a mathematician. Student 2 was 

taken by surprise and (I) ___________________. Student 1 exclaimed (II) 

____________________ their attention between homework and video games. 

                                                                    

                        SECTION D- LITERATURE TEXTBOOK                               (26 marks) 

8. Read the given excerpts and answer the questions briefly, for any two excerpts, of 

the three, given.  

2x4=8 

A.  "How amused everyone would be if they knew what really happened," said Louisa Mebbin a 

few days after the ball. 

"What do you mean?" asked Mrs. Packletide quickly. 

"How you shot the goat and frightened the tiger to death," said Miss Mebbin, with her  

disagreeably pleasant laugh.                                                             (Mrs. Packletide’s Tiger)                                                                                                                                                      

I What impact did Louisa Mebbin wish to create on Mrs. Packletide, with her 

statement, "How amused everyone would be if they knew what really happened"? 

 

1 
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I Why did Mrs. Packletide ask Louisa Mebbin what she meant by her comment? 

 

1 

III What feelings did the speed of Mrs. Packletide’s response reflect? (any two) 

 

1 

IV What does the writer mean by 'disagreeably pleasant laugh?’  

 

1 

B. O judgment! thou art fled to brutish beasts, 

And men have lost their reason. Bear with me; 

My heart is in the coffin there with Caesar, 

And I must pause till it come back to me. 

First Citizen: Methinks there is much reason in his sayings. 

Second Citizen: If thou consider rightly of the matter, 

Caesar has had great wrong.                                                              (Julius Caesar)                                                                                                                                                      

 

I 

 

What does the phrase ‘O judgment! thou art fled to brutish beasts’ tell us about the 

speaker’s thoughts? 

 

1 

II Select the line that indicates the speaker's deep grief and emotional connection 

with Caesar. 

 

1 

III What do the responses of the First and Second Citizens reflect about the impact of 

the speaker's words? 

 

1 

IV What about the extract signifies shifting sentiments among the citizens? 1 

 

C. Patol Babu suddenly thought of a crucial question.  

'I hope the part calls for some dialogue?'  

'Certainly. It's a speaking part. You have acted before, haven't you?'  

'Well, as a matter of fact, yes.'  

'Fine. I wouldn't have come to you for just a walk-on part. For that we pick people from 

the street.  

Of course there's dialogue and you'll be given your lines as soon as you show  

up tomorrow.'                                                                                        (Patol Babu) 

 

I Why was the question about dialogue "crucial" for Patol Babu? 

 

1 

II How does Patol Babu's previous acting experience play a role in the casting 

decision? 

 

1 

III What does the casting director's statement, ‘I wouldn't have come to you for just a 

walk-on part,’ reveal about his opinion of Patol Babu's acting skills? 

 

1 

IV What type of conversation do Patol Babu and the casting director have? 

 

1 

9. Answer any five of the following six questions in about 40 words each.  

 

5x2=10 
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I How do Jacopo and Nicola show their dedication and love for their family member in 

Two Gentlemen of Verona? 

 

2 

II Interpret imagery and symbolism in The Rime of the Ancient Mariner, as elements 

that contribute to the poem's overarching themes of retribution and redemption. 

 

2 

III How does Lawrence explore the internal conflict in Snake? 

 

2 

IV Analyse Brutus's reasoning for joining the conspiracy against Julius Caesar in the 

excerpt of Shakespeare's play Julius Caesar. 

 

2 

V Discuss how Shakespeare's sonnet Not Marble, nor the Gilded Monuments conveys 

the theme of immortality through poetry. 

 

2 

VI Evaluate how The Letter by Dhumaketu portrays the impact of separation on human 

emotions. 

 

2 

10  Answer any one of the following two questions in about 150 words.  

 

 1x8=8 

I. In the poems The Frog and the Nightingale and Ozymandias, discuss how the characters' 

attitudes towards power and influence contribute to their respective outcomes. 

 

OR 

 

II. The story Virtually True has elements of virtual reality and advanced technology that contrast 

with the traditional ghostly occurrences in Shady Plot.  How do these contrasting themes and 

narrative styles contribute to the overall tone and meaning of each story? 

 



SAMPLE QUESTION PAPER 

ENGLISH LANGUAGE AND LITERATURE (Code No. 184) 

CLASS-X- (2024-25) 

Time allowed: 3 Hrs. Maximum Marks: 80 

General Instructions: 

Read the instructions very carefully and strictly follow them: 

1. This question paper comprises 11 questions. All questions are compulsory. 

2. The question paper contains THREE sections – 

Section – A: Reading Skills 

Section – B: Grammar and Creative Writing Skills 

Section – C: Literature Textbook 

3. Attempt questions based on specific instructions for each Part. 

 
SECTION A 

READING SKILLS (20 marks) 

 
1. Read the following text. 10 

(1) Water is one of the most essential resources on Earth, yet it is often taken for granted. 

Despite its abundance, the reality is that only a small fraction of the world’s water is fresh 

and available for human use. With increasing populations, climate change, and industrial 

demands, the pressure on our water resources is growing. This makes water conservation 

not just a collective responsibility but a crucial individual duty. Each person’s effort towards 

conserving water can significantly impact the preservation of this vital resource for future 

generations 

(2) One of the primary reasons individual water conservation efforts are so important is the 

cumulative effect of small actions which may seem trivial on their own. However, when 

multiplied by millions of people, these actions can lead to substantial water savings. For 

example, a single dripping tap can waste over 15 litres of water a day. Imagine the water 

saved if every household in a city repaired just one leaky faucet. This highlights the power 

of collective individual actions in reducing water waste. 

(3) Moreover, personal efforts towards water conservation often lead to greater awareness 

and education. When individuals take steps to conserve water, they become more 

conscious of their water usage and the importance of this resource. This awareness can 

then spread within communities, inspiring others to adopt similar practices. For instance, 

a family that installs water-saving devices in their home may encourage neighbours and 

friends to do the same, creating a ripple effect. This grassroots approach to conservation 

can be particularly effective in areas where larger-scale initiatives may be slow to 

implement or lacking in support. 

(4) In addition to daily habits, individuals can also make a difference through more significant 

lifestyle choices. For instance, opting for drought-resistant plants in gardens and 

supporting water-efficient agriculture can all contribute to water conservation. Agriculture, 

especially livestock farming, is one of the largest consumers of water globally. By 

supporting sustainable farming practices, individuals can indirectly reduce the water 

footprint of their food. 



(5) Critics might argue that individual efforts are negligible compared to the large-scale water 

consumption by industries and agriculture. However, this perspective overlooks the 

potential for individual actions to drive systemic change. When people collectively make 

water-conscious choices, they send a powerful message to businesses and policymakers 

about the importance of conservation. 

(6) Each person’s commitment to saving water, no matter how small, contributes to a larger 

culture of sustainability. By making conscious choices and spreading awareness, 

individuals can help ensure that future generations have access to the clean, fresh water 

they need to thrive. Water conservation is not just the responsibility of governments and 

industries; it is a shared duty that begins with each of us. 

Created for Academic Usage / 441 words 

Answer the following questions, based on the passage above. 

I In paragraph 1, what does the phrase ‘each person’s effort towards conserving 
water can significantly impact the preservation of this vital resource’ emphasise? 

1 

II Complete the following with the correct option from the two given. 
 

Water is often taken for granted, despite its essential nature because . 
 

a) it is abundant and always easily accessible, making people less aware of its 
usage 

b) its importance is not always recognised, leading people to overlook its value 
(paragraph 1) 

1 

III Support the writer's idea that small individual actions towards water conservation 
are not trivial. 

(paragraph 2) 

2 

IV Select the option that best reflects the concept of a ‘ripple effect’ in the context of 
student life at school. 

a) A student’s act of volunteering at a local charity leads to the school 
administration organising a large-scale fundraising event. 

b) A student who consistently follows good study practices inspires classmates to 
improve their own study routines, creating a culture of academic excellence 
in the class.                                                                                  (paragraph 3) 

 

1 

V State whether the following statement is True or False. 
(paragraph 3) 

1 

VI The writer mentions ‘sustainable farming practices’ in paragraph 4. 
Which of the following is a sustainable farming practice? 

 
A. Using chemical fertilizers and pesticides extensively to increase crop yields. 

B. Clearing large areas of natural vegetation to expand farmland for organic 

farming. 

C. Implementing crop rotation and using organic compost to maintain soil health. 

D. Relying solely on monoculture farming to maximise production efficiency. 

1 

VII List any two points that a powerful message sent to businesses and policy makers 

about the importance of water conservation might include. (paragraph 5) 

 
2 



VIII Fill in the blank with the correct option from those given. (paragraph 6) 

In the phrase ‘culture of sustainability,’ the word ‘culture’ refers to  . 

 
A. A set of beliefs and practices shared by a group 

B. The artistic and traditional practices specific to a community's heritage. 

C. The lifestyle habits and choices that are popular among the urbane 

D. The techniques and methods used in development efforts 

1 

2. Read the following text. 10 

(1) A thorough study conducted across several villages of north-west India unveiled 
fascinating insights into the mural* landscape. It revealed that a significant majority, 
comprising around 80%, of these vibrant artworks are meticulously crafted by the villagers 
themselves. Approximately 15% of the murals stem from collaborative endeavours 
between villagers and local or visiting artists. 

(2) Surprisingly, a small fraction, about 5%, of the murals are the result of sponsored 
initiatives, often commissioned by governmental or non-governmental organisations. 
These murals convey social messages ranging from education and environmental 
conservation to public health awareness. 

(3) Among the locally crafted murals, nearly 55% depict scenes from mythology and folklore, 
celebrating the rich cultural heritage of the region. About 26 % of these murals showcase 
daily life in the villages, capturing moments of joy, struggle, and victory. The remaining 
19% feature abstract or contemporary themes, reflecting evolving artistic expressions in 
rural settings. 

(4) Further analysis reveals that among the locally crafted murals, nearly 63% are found on 
the walls of community centres, temples, and other public spaces. Around 27 % adorn the 
exterior walls of residential houses. The remaining 10% are scattered across schools, 
health centres, and other institutional buildings, serving as educational tools and sources 
of inspiration for the younger generation. 

(5) To delve deeper, comparisons across various parameters such as demographic patterns, 
subject matter, techniques, community engagement, and impact are crucial. Analysing 
these facets not only provides a comprehensive understanding of mural creation in 
northwest Indian villages but also unveils avenues for cultural preservation, community 
development, and creative expression. 

* a large painting or artwork that is typically created directly on a wall or ceiling 

Created for academic usage/252 words 

Answer the following questions, based on the passage above 

I What does the use of the phrase 'fascinating insights' by the writer, in paragraph 1, 
tell us about their feelings? 
A. The writer is expressing surprise. 
B. The writer is conveying boredom and frustration. 
C. The writer is indicating interest and enthusiasm. 
D. The writer is showing disappointment. 

1 



II Select the option that is true for the assertion and reason given below. 
Assertion: The murals in northwest Indian villages are meticulously crafted. 
Reason: The murals are the result of collaborative endeavours. 
A. Both the assertion and reason are true, and the reason is the correct 

explanation of the assertion. 
B. Both the assertion and reason are true, but the reason is not the correct 

explanation of the assertion. 
C. The assertion is true, but the reason is false. 
D. The assertion is false, but the reason is true. 

1 

III Identify the word that indicates that the writer anticipated a higher percentage of 
sponsored initiative murals? 

1 

IV How do the murals in northwest Indian villages contribute to community 
engagement and awareness? 

1 

V Read the given prompt and select the correct option in the brackets to fill in the 
blank. 
In Hari's village, a mural depicting sustainable farming practices is showcased on 
the Panchayat office wall. 
The percentage of mural type that this would be counted in is. (26% / 19% / 55%) 

1 

VI What does the highest percentage of different mural themes suggest about the 
artistic preferences and cultural priorities in northwest Indian villages? 

1 

VII Complete the sentence suitably. 
The significant presence of murals on the exterior walls of residential houses 
highlight. 

1 

VIII Complete the following with a suitable reason. 
The most likely reason the writer believes that a mural can serve as an ‘educational 
tool’ is because it can   . 

1 

IX In the context of the last paragraph, describe the significance of comparing various 
parameters such as demographic patterns, subject matter, techniques, community 
engagement, and impact in understanding the mural landscape in northwest Indian 
villages. 

2 

 

SECTION B: WRITING SKILLS & GRAMMAR (20 marks) 
 

 GRAMMAR 10 

3. Complete any ten of twelve of the following tasks, as directed.  

I Fill in the blank with the correct option to complete the opening line of a formal letter: 

Dear Mr. Patel, 
We are pleased to inform you that your proposal for the upcoming project by 
the board of directors_____________. 

A. had endorsed 
B. will have been endorsed 
C. has been endorsed 
D. have endorsed 

1 



II Read the given sentence from a marketing report. Identify the error and supply the 
correction in the given format. 
The company continues to strives tirelessly to meet customer demands. 
 

ERROR CORRECTION 

1 

   

III Rhea asked the following question to her colleague, Deepak. 

Have you finalised the magazine content to be submitted tomorrow? 

Report Rhea’s question correctly 

1 

IV Fill in the blank by choosing the correct option, to complete an official 

announcement. 

Attention all prefects, 

Please be informed that the deadline for submitting your registrations for 

participation in the Art Exhibition has been extended; (that/ these/ this) should be 

communicated to all students of classes IX-X. 

1 

V Read Sana’s reply to her team leader, regarding the preparation of an important 

presentation. 

I’m sorry I forgot ma’am. I’ll have the presentation ready for you very soon today. 

Report Sana’s reply by completing the following sentence correctly. 

Sana apologised for having forgotten and said . 

1 

VI Identify and correct the error in the given line taken from an online news report: 

Nearly most shop was closed for the public holiday. 

 
Option No. Error Correction 

A most every 

B shop shops 

C was were 

D the that 

1 

 
VII 

Complete the given school announcement by selecting the correct option to fill in 

the blank. 

Good news, everyone! 

Our school's robotics team has successfully______________a place in the semi-
finals. 

 
A. securing 

B. secured 

C. will secure 

D. had secured 

1 

 

VIII Detect the error and supply the correction for the given observation by a child. 

That needn’t be Dad’s jacket. It’s too small. 

 

ERROR CORRECTION 

1 

 



IX Report the dialogue between a teacher and a student, by completing sentence. 

Teacher: Did everyone understand the new assignment? 

Students: Yes, we all got it, thank you! 

 
The teacher asked if everyone had understood the new assignment, to which the 

students , expressing their gratitude. 

1 

X Select the correct option to complete the given sentence from a handbook for 
managers. The manager consider the proposal before 
making a decision. 

A. will 
B. should 
C. might 
D. can 

1 

XI Complete the given sentence about the reaction of some friends, by selecting the 
correct option: 
The group of friends excited at the prospect of their upcoming adventure. 
A. are 
B. has 
C. is 
D. were 

1 

XII Read the conversation about social media, between a teacher and a student 
Teacher: How do you think social media influences our perceptions of reality? 
Jagrit: I believe it distorts our perception of reality by only showing the highlight 
reels of people's lives. 
Report the student's response by completing the following. 
The student remarked by only showing the highlight reels of people's 
lives. 

1 

 

WRITING 

NOTE: All details presented in the questions in writing section are imaginary and created for 

assessment purpose. 
 

4A You are Nirmal Pillai, a concerned citizen from Aluva, Kochi. Compose a letter in 
about 120 words, to the Project Head of the E-Waste Management Cell at 
Electronics Vatika, New Delhi, highlighting the adverse effects of e-waste* 
pollution. Suggest measures for addressing its management through community 
engagement and government initiatives. 
* Discarded electronic devices such as smartphones, computers, and televisions, 
which are no longer in use or have reached the end of their lifecycle. 

 OR 

4B You are Chhavi Pathak of Ranchi, Bihar. Write a letter in about 120 words 
addressing the Secretary of the City Municipal Authority. Detail the problem of 
overgrown trees and shrubs in the neighbourhood and request the delegation of 
personnel for regular pruning. 



5A Read the product details on a label for a school bag: 
 
 

 

ECO-FRIENDLY SCHOOL BAG 

1. Made from recycled materials 

2. Ergonomic* design with padded shoulder straps and breathable mesh back 

panel 

3. Spacious main compartment with multiple pockets and organisers 

4.Reflective strips for visibility and safety 

5. Water-resistant fabric 

6. Available in various vibrant colours and patterns 
 

 
Now, analyse why this school bag would be a beneficial purchase. Write the 

analytical paragraph in 120 words, considering factors such as its eco- 

friendliness, comfort features, functionality, safety aspects, and design options. 

* Design that is intended to maximise comfort, efficiency, and safety for the user 

 

 OR  

5B Read the given details of a playground intended for your resident area. 
 
 

 

 A central climbing structure inspired by traditional Indian architecture, 

such as a miniature fort, with multiple levels and slides.

 Swings adorned with colorful Indian patterns, along with monkey bars and a 

zip line.

 A water play feature inspired by Indian fountains or rivers

 Shaded seating areas with benches and swings, resembling traditional

chaupals or gazebos. 

 Trees, shrubs, and flower beds

 Ample open space
 

 

Analyse the details and write an analytical paragraph in about 120 words about the 

suitability of this playground. 

Focus on factors such as safety, inclusivity, fun features, suitability for different age 

groups, and overall experience. 

5 

 

 

SECTION D: LITERATURE TEXTBOOK (40 marks) 
 

6 Read the given extracts and answer any one of the two questions given below 5 

A With a loud scream he fell outwards and given downwards into space. Then a 

monstrous terror seized him and his heart stood still. He could hear nothing. But 

it only lasted a minute. The next moment he felt his wings spread outwards. The 

wind rushed against his breast feathers, then under his stomach, and against 

his wings. He could feel the tips of his wings cutting through the air. He was not 

falling headlong now. He was soaring gradually downwards and outwards. (His 

First Flight) 

1 



I What effect does the experience, as described in the lines below, have on the 

baby seagull? 

With a loud  scream he fell outwards and downwards  into space. Then a 

monstrous terror seized him and his heart stood still. 

Chose the most suitable option. 

A. exhilarates 

B. overwhelms 

C. energises 

D. confuses 

1 

II How does the author's use of descriptive language enhance the narrative 
technique in the paragraph? 

2 

III Fill in the blank with the correct word from the bracket. 
The use of the word ‘rushed’ adds to a sense of (speed / relief), 
in the extract 

1 

IV How does the seagull's feelings towards the end of the extract contrast with the 
initial feeling of terror? 

1 

B And suddenly Bholi noticed that the teacher was standing by her side, smiling 
at her. “What’s your name, little one?” 
“Bh-Bho-Bho-.” She could stammer no further than that. 
Then she began to cry and tears flowed from her eyes in a helpless flood. She 
kept her head down as she sat in her corner, not daring to look up at the girls 
who, she knew, were still laughing at her. When the school bell rang, all the girls 
scurried out of the classroom, but Bholi dared not leave her corner. Her head 
still lowered, she kept on sobbing. 
“Bholi.” 
The teacher’s voice was so soft and soothing! In all her life she had never been 
called like that. It touched her heart. (Bholi) 

 

I What is the tone the teacher is UNLIKELY to have used in the line, ‘“What’s your 
name, little one?”.' 
A. reassuring 
B. comforting 
C. settling 
D. calming 

1 

II How does the author's use of Bholi 's perspective help build the narrative in the 
extract? 

2 

III Fill in the blank with the correct word from the bracket. 
The word ‘flood’ in the line ‘...tears flowed from her eyes in a helpless flood.’ 
Indicates that Bholi was crying (uncontrollably / unintentionally). 

1 

IV How does the teacher's comforting demeanour contrast with the behaviour of 
the other girls in the classroom? 

1 



7 Read the given extracts and answer the questions for any one of the two, given. 5 

A He stalks in his vivid stripes 
The few steps of his cage, 
On pads of velvet quiet, 
In his quiet rage. (Tiger in the Zoo) 

 

I What is the most likely reason the poet chooses to say ‘vivid’ stripes instead of 
just stating the colours of the stripes? 

 

II Fill the blank with ONE word. 

The tiger's stalking suggests a movement that is within the confines of its 
cage. 

 

III How does the poet reinforce the contrast between the tiger's confined 
environment and its internal emotions? 

 

IV Select the option that applies the same rhyme scheme as the lines of the 
given extract. 

A. This bird so small and sweet, B. Perched on a branch green, 

Sings aloud in the morn,  This bird so sweet and lean, 

Perched on a branch green,  Sings aloud in a voice sweet, 

Chirp, chirp, tweet, tweet. Chirp, chirp, tweet, tweet. 
 

C. This bird sings without a care, D. This bird so small and 
sweet Perched on a branch green,  Sings aloud in the morn 
A song with the world to share, Perched on a green branch 
With its feelings so keen.  Singing its own melody 

5 

B Belinda paled, and she cried Help! Help! 
But Mustard fled with a terrified yelp, 
Ink trickled down to the bottom of the household, 
And little mouse Blink strategically mouseholed. 

(The Tale of Custard the Dragon) 

 

I Examine the portrayal of Blink in the given lines. 2 

II Complete the following suitably. 

The word ‘paled’ implies that Belinda . 

1 

III What kind of picture is painted by the poet through the line, ‘Ink trickled down 
to the bottom of the household’? 

1 

IV What kind of atmosphere is created through these lines? 

Select the correct option 
1. Urgency 2. Apprehension 3. Uncertainty 4. mystery 5. Aggression 

A. 1 and 4 

B. Only 2 

C. 1, 2 and 3 

D. 4 and 5 

1 



8 Answer any four of the following five questions, in about 40-50 words. 4x3=12 

I How does the ignorance about Mijbil as a creature in the urban environment of 
London reveal insights about people's perceptions and knowledge regarding 
animals? (Mijbil the Otter) 

3 

II How does the imagery of the trees' movement from the house to the forest, in 
‘Trees’, reflect broader themes of liberation and growth in human experiences? 

3 

III What does the postmaster's reaction to Lencho's letter reveal about his 
character? (A Letter to God) 

3 

 

IV 
 

Assess the narrative's effectiveness in portraying the tension between the 
comfort of familiarity and the allure of the unfamiliar in 'Madam Rides the Bus'. 

 

3 

V Summarise the role of the use of parentheses in the poem ‘Amanda!’. 3 

9 Answer any two of the following three questions, in about 40-50 words. 2x3=6 

I How does Matilda's desire for material wealth drive the plot of ‘The Necklace’? 3 

II Justify the opinion that Ebright's early successes were essential for his later 
achievements in science. (The Making of a Scientist) 

3 

III How does 'The Book that Saved the Earth' include elements of satirical science 
fiction? 

3 

10 Answer any one of the following two questions, in about 100-120 words 6 

I Both poems ‘Dust of Snow’ and ‘Fire and Ice’ use contrasting elements of nature 
to convey their respective messages about life and human emotions but they do 
it differently. Examine these differences. 

 

II Both the texts, ‘For Anne Gregory' and ‘The Sermon at Benares,’ grapple with the 
idea that external attributes are fleeting and subject to decay. Examine the 
similarities. 

 

11 Answer any one of the following two questions, in about 100-120 words. 6 

I Evaluate how Griffin's character is shaped by a combination of personal ambition, 
the unintended consequences of his scientific pursuits, and the reactions of the 
society he faces. 

 

II Evaluate how James Herriot’s characterisation contributes significantly to the 
overarching theme of responsible pet ownership and animal welfare. 
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प्रतिदर्श प्रश्नपत्र (2024-25) 

कक्षा-दसवी ीं तिन्दी-अ (कोड 002) 

तिर्ाशरिि समय: 3 घींटे                                                                  अतर्किम अींक : 80 

सामान्य तिदेर् : 

निम्ननिखित निरे्दशोों को बहुत सावधािी से पनिए और उिका सख्ती से अिुपािि कीनिए :  

 इस प्रश्नपत्र में कुि 15 प्रश्न हैं | सभी प्रश्न अनिवार्य हैं | 

 इस प्रश्नपत्र में कुि चार िोंड हैं- क,ि,ग,घ | 

 िोंड-क में कुि 2 प्रश्न हैं, नििमें उपप्रश्नोों की सोंख्या 10 है | 

 िोंड-ि में कुि 4 प्रश्न हैं, नििमें उपप्रश्नोों की सोंख्या 20 है | नर्दए गए निरे्दशोों का 

पािि करते हुए 16 उपप्रश्नोों के उत्तर रे्दिा अनिवार्य है | 

 िोंड-ग में कुि 5 प्रश्न हैं, नििमें उपप्रश्नोों की सोंख्या 20 है | 

 िोंड-घ में कुि 4 प्रश्न हैं, सभी प्रश्नोों के साथ उिके नवकल्प भी नर्दए गए हैं | 

 प्रश्नोों के उत्तर नर्दए गए निरे्दशोों का पािि करते हुए निखिए | 
                      

 

प्रश् ि 

सींख् या  

खींड – क 

( अपतिि बोर् ) 

अींक 

(14)  

1. निम्ननिखित गद्ाोंश को ध्यािपूवयक पिकर उस पर आधाररत पूछे गए प्रश्नोों के उत्तर निखिए 
:  

7  

      आि नवश्व के कई रे्दशोों में अर्दरक वािी भारतीर् चार् का चस्का िोगोों को ऐसा िग 

गर्ा है नक वहााँ हर कोई भारतीर् चार् का शौकीि हो गर्ा है | इसके अिावा भारत में कुल्हड़ 

वािी चार् भी काफी िोकनप्रर् है | नमट्टी के कुल्हड़ में परोसी गई चार् का अपिा नवशेष 

महत्त्व है क्ोोंनक इसकी सौोंधी िुशबू और िािवाब स्वार्द को इसके नबिा अिुभव िही ों कर 

सकते हैं | भारत की नसफाररश पर सोंरु्क्त राष्ट्र  महासभा िे 21 मई को अोंतरायष्ट्र ीर् चार् 

नर्दवस घोनषत नकर्ा है | भारत िे नमिाि में हुई अोंतरायष्ट्र ीर् िाद् और कृनष सोंगठि की बैठक 

में र्ह प्रस्ताव पेश नकर्ा था | सोंरु्क्त राष्ट्र  महासभा िे अपिी अनधसूचिा में कहा नक हम 

नवश्व की ग्रामीण अथयव्यवस्था में चार् के र्ोगर्दाि को िेकर रु्दनिर्ा को िागरूक करिा चाहते 

हैं, तानक वषय 2030 के सतत नवकास से िुड़े िक्ष्ोों को पूरा नकर्ा िा सके | सोंरु्क्त राष्ट्र  

को नवश्वास है नक 21 मई को अोंतरायष्ट्र ीर् चार् नर्दवस घोनषत करिे से इसके उत्पार्दि और 

िपत बिािे में मर्दर्द नमिेगी | अोंतरायष्ट्र ीर् चार् नर्दवस का उदे्दश्य रु्दनिर्ा भर में चार् के िोंबे 

इनतहास और गहरे साोंसृ्कनतक और आनथयक महत्व के बारे में िागरूकता बिािा है। इस 

नर्दि  का िक्ष् चार् के स्थार्ी उत्पार्दि और िपत के पक्ष में गनतनवनधर्ोों को िागू  करिे के 

निए सामूनहक कार्ों को बिावा रे्दिा और भूि और गरीबी से िड़िे में इसके महत्व के बारे 

 

https://en.wikipedia.org/wiki/Raising_awareness
https://en.wikipedia.org/wiki/Raising_awareness
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में िागरूकता बिािा है। साथ ही सोंरु्क्त राष्ट्र  महासभा िे चार् के औषधीर् गुणोों के साथ 

साोंसृ्कनतक महत्त्व को भी मान्यता र्दी है |   

             नवश्व में चार् के प्रमुि उत्पार्दकोों में एनशर्ा, अफ्रीका, र्दनक्षणी अमेररका शानमि 

हैं | िबनक नवश्व के चार बड़े उत्पार्दक रे्दशोों में क्रमशः  चीि, भारत, कीनिर्ा और श्रीिोंका 

शानमि हैं |नवश्व के कुि चार् उत्पार्दि में इि रे्दशोों की नहसे्सर्दारी 75 प्रनतशत है |भारत 

नवश्व में चार् उत्पार्दि का एक बड़ा कें द्र है | भारत में चार् का उत्पार्दि करिे वािे राज्ोों में 

असम, पनिमी बोंगाि,केरि, किायटक और तनमििाडु शानमि हैं | असम भारत का 

सवायनधक चार् उत्पार्दि करिे वािा राज् है | भारत में िगभग 13 हज़ार चार् बागाि हैं, 

िो 60 िाि से अनधक श्रनमकोों की आिीनवका का प्रमुि साधि भी हैं | चार् एक श्रम 

आधाररत उद्ोग है इसनिए भारत िैसे रे्दश में इसके नवकास की अपार सोंभाविाएाँ  हैं | चार् 

की चुिाई के निए अनधक मात्रा में श्रनमकोों की आवश्यकता पड़ती है, क्ोोंनक चार् की पनत्तर्ााँ 

एक-एक कर तोड़ी िाती हैं, नििसे कोमि पनत्तर्ााँ िष्ट् िा होों। अपिी कोमि अोंगुनिर्ोों के 

कारण ही चार् के उद्ािोों में स्त्री मज़रू्दर द्वारा पनत्तर्ााँ तोड़ी िाती हैं। चार् की पत्ती तोड़िे के 

काम के निए श्रनमकोों को पूरे नर्दि िड़े रहिा पड़ता है - चाहे वह नचिनचिाती धूप में हो र्ा 

बाररश में। वे आम तौर पर उस नहसे्स तक पहुाँचिे के निए चार से पाोंच नकिोमीटर पैर्दि 

चिते हैं िहााँ वे चार् की पनत्तर्ाों चुिते हैं। 

(क) कथि (A) और कारण (R) को पिकर उपरु्क्त नवकल्प चुनिए : 

कथि (A): सोंरु्क्त राष्ट्र  महासभा िे 21 मई को ‘अोंतरायष्ट्र ीर् चार् नर्दवस’ घोनषत नकर्ा 

है | 

कारण (R): नवश्व की ग्रामीण अथयव्यवस्था को मिबूत बिािे में चार् की अहनमर्त को 

समझािा | 

i. कथि (A) गित है, नकों तु कारण (R) सही है | 

ii. कथि (A) और कारण (R) र्दोिोों ही गित हैं | 

iii. कथि (A) सही है और कारण (R) कथि (A) की सही व्याख्या है | 

iv. कथि (A) सही है नकों तु कारण (R) कथि (A) की सही व्याख्या िही ों है | 

1 

(ि) भारत में कुल्हड़ वािी चार् काफी िोकनप्रर् है क्ोोंनक – 

कथि के निए उनचत नवकल्प का चर्ि कीनिए – 

I. सौोंधी िुशबू होती है | 

II. िािवाब स्वार्द होता है | 

III. बहुत माँहगी होती है | 

IV. आसािी से उपिब्ध है | 

नवकल्प – 

i. कथि I और II सही हैं | 

ii. कथि I,III और IV सही हैं | 

iii. केवि कथि III सही है | 

iv. कथि I,II और IV सही हैं | 

1 
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(ग) िीचे नर्दए हुए कॉिम 1 को कॉिम 2 से सुमेनित कर सही नवकल्प का चर्ि कीनिए – 

कॉिम 1 कॉिम 2 

I नवश्व में चार् का सबसे बड़ा उत्पार्दक रे्दश 1 - भारत 

II भारत में चार् का सबसे बड़ा उत्पार्दक राज् 2 - चीि 

III नवश्व में चार् का रू्दसरा बड़ा उत्पार्दक रे्दश 3 - असम 

 
i. I (1) II (2) III (3) 

ii. I (2) II (3) III (1)  
iii. I (3) II (1) III (2) 
iv. I (1) II (3) III (2)  

 

1 

(घ) चार् के उत्पार्दि और िपत बिािे में ‘अोंतरायष्ट्र ीर् चार् नर्दवस’ की क्ा भूनमका है ? 2 

(ङ) चार् एक श्रम आधाररत उद्ोग है – कैसे ? 2 

   

2.  निम्ननिखित काव्याोंश को ध्यािपूवयक पिकर उस पर आधाररत पूछे गए प्रश्नोों के उत्तर 

निखिए :  

7  

 अिुयि ! रे्दिो, नकस तरह कणय सारी सेिा पर टूट रहा ,  

नकस तरह पाोंडवोों का पौरुष होकर अशोंक वह िूट रहा , 

रे्दिो निस तरफ़, उधर उसके ही बाण नर्दिार्ी पड़ते हैं , 

बस, निधर सुिो, केवि उसके हुोंकार सुिार्ी पड़ते हैं | 
 

कैसी करािता ! क्ा िाघव ! नकतिा पौरुष ! कैसा प्रहार ! 

नकस गौरव से र्ह वीर नद्वरर्द कर रहा समर-वि में नवहार ! 

वू्यहोों पर वू्यह फटे िाते,सोंग्राम उिड़ता िाता है, 

ऐसी तो िही ों कमि वि में भी कुों िर धूम मचाता है | 
 

इस पुरुष-नसोंह का समर रे्दि मेरे तो हुए निहाि िर्ि , 

कुछ बुरा ि मािो, कहता हाँ, मैं आि एक नचर-गूि वचि | 

कणय के साथ तेरा बि भी मैं िूब िािता आर्ा हाँ , 

मि-ही-मि तुझसे बड़ा वीर, पर इसे मािता आर्ा हाँ |  
 

“औ” रे्दि चरम वीरता आि तो र्ही सोचता हाँ मि में , 

है भी कोई, िो िीत सके, इस अतुि धिुधयर को रण में ? 
 

- रामधारी नसोंह नर्दिकर ( रखिरथी सप्तम सगय भाग-3 ) 
 

 

(क) इस काव्याोंश में कौि नकसकी प्रशोंसा कर रहा है ? 1  
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i. कृष्ण अिुयि की | 

ii. कृष्ण कणय की | 

iii. कणय कृष्ण की | 

iv. अिुयि कणय की | 

(ि) कनव िे कणय के रु्द्ध-कौशि की प्रशोंसा में क्ा कहा है ?   उनचत नवकल्प का चर्ि 

कीनिए – 

I. पाोंडव सेिा के पुरुषाथय को चुिौती रे्द रहा था | 

II. पाोंडव सेिा िे उसे चारोों ओर से घेर निर्ा था | 

III. समर के्षत्र में केवि उसके बाण नर्दिाई रे्द रहे थे | 

IV. समर के्षत्र में केवि उसकी हुोंकार सुिाई रे्द रही थी | 

नवकल्प – 

i. कथि I और II सही हैं | 

ii. कथि I,II और IV सही हैं | 

iii. केवि कथि III सही है | 

iv. कथि I,III और IV सही हैं | 

1  

(ग) कथि (A) और कारण (R) को पिकर उपरु्क्त नवकल्प चुनिए : 

कथि (A): कणय की गियिा से पाण्डव सेिा में भगर्दड़ मच गई । 

कारण (R): कणय िे पाण्डवोों की सेिा पर भीषण आक्रमण कर नर्दर्ा था | 

i. कथि (A) गित है, नकों तु कारण (R) सही है | 

ii. कथि (A) और कारण (R) र्दोिोों ही गित हैं | 

iii. कथि (A) सही है और कारण (R) कथि (A) की सही व्याख्या है | 

iv. कथि (A) सही है नकों तु कारण (R) कथि (A) की सही व्याख्या िही ों है | 

1 

(घ) श्रीकृष्ण िे अिुयि को कौिसा गूि वचि बतार्ा ? 2 

(ङ) कणय के रु्द्ध-कौशि को रे्दिकर कृष्ण उसके बारे में क्ा सोच रहे थे ? 2 

   
 खींड – ख  

( व्याविारिक व्याकिण )   

 
16   

3.  निरे्दशािुसार ‘रचिा के आधार पर वाक् भेर्द’ पर आधाररत पााँच प्रश्नोों में से नकन्ी ों चार 

प्रश्नोों के उत्तर निखिए :   

4x1=4  

(क) हािर्दार साहब चौराहे पर रुकते थे और मूनतय को रे्दिते थे |  (सरि वाक् में बर्दनिए)  1 

(ि) िब िाड़ा आता तब बािगोनबि भगत एक कािी कमिी ऊपर से ओिे रहते |    

(सोंरु्क्त वाक् में बर्दनिए ) 

 1 

(ग) रीड िरकट से बिाई िाती है िो डुमरााँव में मुख्यतः  सोि िर्दी के नकिारोों पर पाई िाती है 

|                                                       (आनश्रत उपवाक् छााँटकर उसका भेर्द भी निखिए ) 

 1 

(घ) िीरे के स्वार्द के आिोंर्द में िवाब साहब की पिकें  मुाँर्द गईों |   (नमश्र वाक् में बर्दनिए)  1 
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(ङ) काशी आि भी सोंगीत के स्वर पर िगती है और उसी की थापोों पर सोती है |  

(रचिा की दृनष्ट् से वाक् का भेर्द निखिए) 

1 

   

4. निरे्दशािुसार ‘वाच्य’ पर आधाररत पााँच प्रश्नोों में से नकन्ी ों चार प्रश्नोों के उत्तर निखिए : 4x1=4  

(क) वह नगिे-चुिे फे्रमोों को िेतािी की मूनतय पर नफट कर रे्दता है | (कमय वाच्य में बर्दनिए) 1 

(ि) िवाब साहब द्वारा िेब से चाकू निकािा गर्ा और िीरे नछििे शुरु कर नर्दए गए |        

                                                                                                              (कतृयवाच्य में बर्दनिए) 

1 

(ग) नबिा सहारे र्दार्दािी अब चि िही ों पाते हैं |                                        (भाववाच्य में बर्दनिए) 1 

(घ) स्वर्ों प्रकाश िी िे ‘िेतािी का चिा’ कहािी की रचिा की |  

                                                                                               (वाच्य पहचािकर भेर्द बताइए) 

1 

(ङ) कमय की प्रधािता वािे वाक् में कौि-सा वाच्य होता है ? 1 

   

5.  निरे्दशािुसार ‘पर्द पररचर्’ पर आधाररत पााँच प्रश्नोों में से नकन्ी ों चार प्रश्नोों के रेिाोंनकत 

पर्दोों का पर्द-पररचर् निखिए : 

4x1=4  

(क) पािवािा िर्ा पाि िा रहा था | 1 

(ि) वक्त काटिे के निए िीरे िरीरे्द होोंगे | 1 

(ग) नवद्ािर् के साथ ही एक डाकघर है | 1 

(घ) वाह ! भई िूब ! क्ा आइनडर्ा है | 1 

(ङ) वे बहुत कोमि और सोंवेर्दिशीि व्यखक्त थे | 1 

   

6.  निरे्दशािुसार ‘अिोंकार’ पर आधाररत पााँच प्रश्नोों में से नकन्ी ों चार प्रश्नोों की रेिाोंनकत काव्य 

पोंखक्तर्ोों में अिोंकार पहचाि कर निखिए :  

4x1=4 

(क) सहसबाहु सम सो ररपु मोरा | 1 

(ि) छुअत टूट रघुपनतहु ि र्दोसू | 1 

(ग) बूिे पीपि िे आगे बिकर िुहार की | 1 

(घ) तुम्ह तौ कािु हााँक ििु िावा | बार बार मोनह िानग बोिावा | 1 

(ङ) बित रे्दखि िि सम वचि बोिे रघुकुिभािु | 1 

   
 खींड – ग 

( पाठ्य पुस्तक एवीं पूिक पाठ्य पुस्तक ) 

 
30  

7.  निम्ननिखित पनठत गद्ाोंश पर आधाररत बहुनवकल्पीर् प्रश्नोों के सवायनधक उपरु्क्त उत्तर वािे 

नवकल्प चुिकर निखिए : 

काशी में सोंगीत आर्ोिि की एक प्राचीि एवों अर््दभुत परोंपरा है | र्ह आर्ोिि नपछिे कई 

बरसोों से सोंकटमोचि मोंनर्दर में होता आर्ा है | र्ह मोंनर्दर शहर के र्दनक्षण में िोंका पर खस्थत 

है व हिुमाि िर्ोंती के अवसर पर र्हााँ पााँच नर्दिोों तक शास्त्रीर् एवों उपशास्त्रीर् गार्ि-वार्दि 

5x1=5 
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की उतृ्कष्ट् सभा होती है | इसमें नबखिल्ला िााँ अवश्य रहते हैं | अपिे मिहब के प्रनत 

अत्यनधक समनपयत उस्तार्द नबखिल्ला िााँ की श्रद्धा काशी नवश्विाथ िी के प्रनत भी अपार है | 

वे िब भी काशी से बाहर रहते हैं तब नवश्विाथ व बािािी मोंनर्दर की नर्दशा की ओर मुाँह करके 

बैठते हैं, थोड़ी रे्दर ही सही, मगर उसी ओर शहिाई का प्यािा घुमा नर्दर्ा िाता है और 

भीतर की आस्था रीड के माध्यम से बिती है | 

(क) काशी के सोंकटमोचि मोंनर्दर में आर्ोनित सोंगीत आर्ोिि की नवशेषता है –  

कथि के निए उनचत नवकल्प का चर्ि कीनिए – 

I. र्ह आर्ोिि हिुमाि िर्ोंती के अवसर पर होता है | 

II. र्ह आर्ोिि पााँच नर्दिोों तक चिता  है | 

III. र्ह प्राचीि सोंसृ्कनत है | 

IV. शास्त्रीर् एवों उपशास्त्रीर् गार्ि-वार्दि होता है | 

नवकल्प – 

i. कथि I और II सही हैं | 

ii. कथि I,III और IV सही हैं | 

iii. केवि कथि III सही है | 

iv. कथि I,II और IV सही हैं | 

1 

(ि) कथि (A) और कारण (R) को पिकर उपरु्क्त नवकल्प चुनिए : 

कथि (A): नबखिल्ला िााँ नमिी-िुिी सोंसृ्कनत के प्रतीक थे | 

कारण (R): अपिे मिहब के प्रनत अत्यनधक समनपयत उस्तार्द नबखिल्ला िााँ 

         की श्रद्धा काशी नवश्विाथ िी के प्रनत भी अपार थी | 

i. कथि (A) गित है, नकों तु कारण (R) सही है | 

ii. कथि (A) और कारण (R) र्दोिोों ही गित हैं | 

iii. कथि (A) सही है और कारण (R) कथि (A) की सही व्याख्या है | 

iv. कथि (A) सही है नकों तु कारण (R) कथि (A) की सही व्याख्या िही ों है | 

1 

(ग) काशी से बाहर के कार्यक्रमोों में नबखिल्ला िााँ नकिके प्रनत अपिी आस्था प्रकट करते थे ? 

i. काशी नवश्विाथ के प्रनत 

ii. काशी नवश्विाथ और बािािी के प्रनत | 

iii. अपिे माता-नपता के प्रनत | 

iv. अपिे गुरु के प्रनत | 

1 

(घ) काशी की अर््दभुत और प्राचीि परोंपरा कौि-सी है ? 

i. सोंगीत आर्ोिि की  

ii. पवों के आर्ोिि की | 

iii. गोंगा-मेिे के आर्ोिि की | 

iv. पशु-मेिे के आर्ोिि की | 

1 

(ङ) इस गद्ाोंश का मूि भाव क्ा है ? उनचत नवकल्प का चर्ि कीनिए – 

I. काशी की साोंसृ्कनतक परों परा को र्दशायिा | 

1 
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II. नबखिल्ला िााँ के साोंप्रर्दानर्क सद्भाव को र्दशायिा | 

III. नबखिल्ला िााँ की सोंगीत के प्रनत आसखक्त को र्दशायिा | 

IV. नबखिल्ला िााँ के काशी के प्रनत पे्रम को र्दशायिा | 

नवकल्प – 

i. कथि I और II सही हैं | 

ii. कथि I,III और IV सही हैं | 

iii. केवि कथि III सही है | 

iv. कथि I,II और IV सही हैं | 
   

8.  निधायररत गद् पाठोों के आधार पर निम्ननिखित चार प्रश्नोों में से नकन्ी ों तीि प्रश्नोों के उत्तर िगभग 

25-30 शब्ोों में निखिए : 

3x2=6 

(क) कैप्टि के प्रनत पािवािे िे क्ा व्योंग्यात्मक नटप्पणी की थी ? इस व्योंग्यात्मक नटप्पणी पर 

आप अपिी प्रनतनक्रर्ा निखिए | 

2 

(ि) बािगोनबि भगत िे मनहिाओों की सामानिक खस्थनत सुधारिे के निए क्ा नकर्ा ?  2 

(ग) िेखिका मनू्न भोंडारी को साधारण से असाधारण बिािे में उिकी प्राध्यानपका ‘शीिा 

अग्रवाि’ की भूनमका पर प्रकाश डानिए |  

2 

(घ) ‘आि का भौनतक नवज्ञाि का नवद्ाथी नू्यटि के समाि सुसोंसृ्कत िही ों है |’ ‘सोंसृ्कनत’ 

पाठ के आधार पर स्पष्ट् करें  नक िेिक िे ऐसा क्ोों कहा ?  

2 

   

9.  निम्ननिखित पनठत काव्याोंश पर आधाररत बहुनवकल्पीर् प्रश्नोों के सवायनधक उपरु्क्त उत्तर 

वािे नवकल्प चुिकर निखिए : 

5x1=5 

 ऊधौ, तुम हौ अनत बड़भागी | 

अपरस रहत सिेह तगा तैं, िानहि मि अिुरागी | 

पुरइनि पात रहत िि भीतर, ता रस रे्दह ि र्दागी | 

ज्ौों िि माहाँ तेि की गागरर, बूाँर्द ि ताकौों िागी | 

प्रीनत-िर्दी में पाऊाँ  ि बोरर्ौ, दृनष्ट् ि रूप परागी | 

‘सूरर्दास’ अबिा हम भोरी, गुर चााँटी ज्ौों पागी || 

 

(क) उपरु्यक्त पर्द में वक्ता और श्रोता क्रमशः  हैं : 

i. उद्धव – गोनपर्ााँ  

ii. गोनपर्ााँ- उद्धव 

iii. सूरर्दास – उद्धव  

iv. गोनपर्ााँ – सूरर्दास 

1 
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(ि) ‘पुरइनि पात रहत िि भीतर, ता रस रे्दह ि र्दागी’- पोंखक्त में नकस खस्थनत की ओर 

सोंकेत है ? सही नवकल्प का चर्ि कीनिए -  

I. उद्धव के रु्दभायग्यशािी होिे की ओर | 

II. उद्धव के सौभाग्यशािी होिे की ओर | 

III. कृष्ण के पे्रम से प्रभानवत होिे की ओर | 

IV. कृष्ण के पे्रम से अप्रभानवत होिे की ओर | 

नवकल्प  

i. कथि I सही है | 

ii. कथि I और II सही हैं | 

iii. कथि II और III सही हैं | 

iv. कथि I और IV सही हैं |   

1 

(ग) कथि (A) और कारण (R) को ध्यािपूवयक पिकर सही नवकल्प चुिकर निखिए :  

कथि (A) : गोनपर्ोों िे व्योंग्य कसते हुए उद्धव को भाग्यशािी कहा है | 

कारण (R)  : कृष्ण के सानिध्य में रहते हुए भी उद्धव के मि में कृष्ण के प्रनत अिुराग 

उत्पन्न िही ों हुआ |  

i. कथि (A) गित है, नकों तु कारण (R) सही है | 

ii. कथि (A) और कारण (R) र्दोिोों ही गित हैं | 

iii. कथि (A) सही है और कारण (R) कथि (A) की सही व्याख्या है | 

iv. कथि (A)सही है नकों तु कारण (R) कथि (A) की सही व्याख्या िही ों है |  

1 

(घ) ‘गुर चााँटी ज्ौों पागी’ पोंखक्त में कौि नकसका प्रतीक है ? 

i. गुर (गुड़) उद्धव का, चााँटी (ची ोंटी) सूरर्दास का | 

ii. गुर (गुड़) उद्धव का, चााँटी (ची ोंटी) श्रीकृष्ण का  

iii. गुर (गुड़) श्रीकृष्ण का, चााँटी (ची ोंटी) उद्धव का | 

iv. गुर (गुड़) श्रीकृष्ण का, चााँटी (ची ोंटी) गोनपर्ोों का | 

1 

(ङ) उद्धव के व्यवहार की तुििा गोनपर्ोों िे नकससे की है ? सही नवकल्प का चर्ि कीनिए -  

I. िि में पड़े रहिे वािे कमि के पते्त से | 

II. िि में पड़ी रहिे वािी तेि की गागर से | 

III. गुड़ से नचपकी रहिे वािी ची ोंटी से | 

IV. कृष्ण की प्रीनत-िर्दी में पााँव डुबािे से | 

नवकल्प : 

i. कथि I सही है | 

ii. कथि I और II सही हैं | 

iii. कथि II और III सही हैं | 

iv. कथि I और IV सही हैं |   

1 
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10.  निधायररत कनवताओों के आधार पर निम्ननिखित चार प्रश्नोों में से नकन्ी ों तीि प्रश्नोों के उत्तर िगभग 

25-30 शब्ोों में निखिए : 

3x2=6 

(क) ‘शखक्त और साहस’ के साथ नविम्रता हो तो अच्छा प्रभाव पड़ता है’- इस कथि पर अपिे 

नवचार ‘राम-िक्ष्मण-परशुराम सोंवार्द’ पाठ के आिोक में निखिए |   

2 

(ि) ‘आत्मकथ्य’ कनवता के आधार पर उि तथ्योों का उले्लि कीनिए नििका उले्लि कनव 

अपिी आत्मकथा में िही ों करिा चाहता है ?  

2 

(ग) ‘नचर प्रवासी मैं इतर, मैं अन्य !’ कनव िे स्वर्ों को ‘नचर प्रवासी,‘इतर’ और 

‘अन्य’ क्ोों कहा है ? ‘र्ह र्दों तुररत मुस्काि’ कनवता के आधार पर निखिए |  

2 

(घ) वतयमाि में सोंगतकार िैसे व्यखक्तर्ोों की प्रासोंनगकता स्पष्ट् कीनिए | 2 

   

11.   पूरक पाठ्य पुस्तक के निधायररत पाठोों पर आधाररत निम्ननिखित तीि प्रश्नोों में से नकन्ी ों र्दो प्रश्नोों 

के उत्तर िगभग 50-60 शब्ोों में निखिए : 

2x4=8 

(क) ‘माता का अोंचि’ िामक पाठ में िेिक िे तत्कािीि समाि के पाररवाररक पररवेश का िो 

नचत्रण नकर्ा है, उसे अपिे शब्ोों में निखिए |   

4 

(ि) ऊाँ चाई की ओर बिते िािे पर िेखिका को पररदृश्य में क्ा अोंतर िज़र आए ? ‘सािा-सािा 

हाथ िोनड़’ र्ात्रा वृताोंत के आधार पर निखिए |  

4 

(ग) नहरोनशमा के बम नवस्फोट में हुई क्षनत को रे्दिकर िेिक को कौि-सी घटिा र्ार्द आई ? 

‘मैं क्ोों नििता हाँ’ पाठ के आधार पर निखिए |  

4 

   
 खींड – घ 

( िचिात्मक लेखि ) 

 
20  

12.  निम्ननिखित तीि नवषर्ोों में से तकसी एक नवषर् पर सोंकेत नबन्रु्दओों के आधार पर िगभग 

120 शब्ोों में एक अिुचे्छर्द निखिए : 

(क) िि बचाओ, पृथ्वी बचाओ  

 िि के नबिा िीवि असम्भव   

 िि सोंरक्षण का महत्त्व 

 िि सोंरक्षण के उपार्  

(ि) िोंक फूड और रु्वा पीिी  

 िोंक फूड क्ा है ? 

 िोंक फूड का बिता चिि  

 स्वास्थ्य पर रु्दष्प्रभाव  

(ग) समाचार पत्र के निर्नमत पठि का महत्त्व  

 ज्ञाि का भोंडार  

 पििे की आर्दत का नवकास  

 िागरूकता  

1x6=6  
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13.  (क) आप अिुपमा / अिुपम हैं | आपके के्षत्र को मुख्य सड़क से िोड़िे वािी सड़क पर 

िाइटें ख़राब हो गईों हैं, निससे रु्दघयटिा की आशोंका बि गई है | इस ओर ध्याि 

आकनषयत कराते हुए सावयिनिक िोक निमायण नवभाग को िगभग 100 शब्ोों में पत्र 

निखिए | 

अथवा 

(ि) आप अिुपमा / अिुपम हैं | आपिे नवद्ािर् की भाषण प्रनतर्ोनगता में प्रथम स्थाि 

प्राप्त नकर्ा है | अपिे र्दार्दािी को नवद्ािर् की भाषण प्रनतर्ोनगता की सोंपूणय िािकारी 

रे्दते हुए िगभग 100 शब्ोों में पत्र निखिए | 
  

1x5=5  
 

14.  (क) आप मेधावी / माधव हैं | आपिे पत्रकाररता में अपिा अधर्र्ि पूरा कर निर्ा है | 

नकसी प्रनसद्ध रै्दनिक समाचार पत्र में पत्रकार का पर्द ररक् त है। आप उक् त पर्द की र्ोग् र्ता 

(पत्रकाररता में स् िातक) को धारण करते हैं। उक् त ररक् त पर्द हेतु समाचार पत्र के प्रमुि 

को आवेर्दि भेििे के निए िगभग 80 शब्ोों में अपिा एक स्ववृत तैर्ार कीनिए |  

अथवा 

(ि) आप मेधावी / माधव हैं | ए.टी.एम. काडय ि नमििे की सूचिा रे्दते हुए सोंबोंनधत 

बैंक शािा प्रबोंधक को िगभा 80 शब्ोों में एक ई-मेि निखिए | 
   

1x5=5  
  

15.  (क) प्ररू्दषण से बचिे के निए पर्ायवरण नवभाग की ओर से ििनहत में िारी एक आकषयक 

नवज्ञापि िगभग 40 शब्ोों में तैर्ार कीनिए |  

अथवा 

(ि) आपके कक्षा अध्यापक को ‘राष्ट्र ीर् नशक्षक पुरस्कार’ से सम्मानित नकर्ा गर्ा है | 

उन्ें बधाई रे्दते हुए िगभग 40 शब्ोों में सोंरे्दश निखिए | 

1x4=4  
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प्रतिदर्श प्रश्नपत्र 2024-25 

कक्षा-दसव ीं तिन्द -ब  (कोड 085) 

तिर्ाशरिि समय: 3 घींटे                                                            अतर्किम अींक : 80 

सामान्य निरे्दश- 

 इस प्रश्नपत्र में चार खंड हैं – क, ख, ग और घ  

 खंड क में अपनित गर्दयांश से प्रश्न पूछे गए हैं, नििके उत्तर नर्दए गए निरे्दश  ंका 

पालि करते हुए र्दीनिए ।  

 खंड ख में व्यावहाररक व्याकरण से प्रश्न पूछे गए हैं, आंतररक नवकल्प भी नर्दए गए 

हैं।  

 खंड ग पाठ्यपुस्तक पर आधाररत है, निरे्दशािुसार उत्तर र्दीनिए।  

 खंड घ रचिात्मक लेखि पर आधाररत है आंतररक नवकल्प भी नर्दए गए हैं।   

 प्रश्न पत्र में कुल 16 प्रश्न हैं, सभी प्रश्न अनिवायय है।  

 यथासंभव सभी खंड  ंके प्रश्न  ंके उत्तर क्रमशः  नलखखए।   

 

प्रश् ि 

सीं. 

खींड-क 

(अपतिि बोर्) 

अींक 

1. निम्ननलखखत गर्दयांश क  ध्यािपूवयक पढ़ कर पूछे गए प्रश्न  ंके उत्तर नलखखए- 7 

 रु्दनिया में इस समय नर्दि रू्दिी, रात चौगुिी गनत से प्रगनत ह  रही है। 

कुछ समय पहले तक असंभव सी लगिे वाली चीज़ें आि प्रौद्य नगकी 

की मर्दर्द से सरलता से पररणाम तक पहुुँच रही हैं। एक समय संगणक 

के नवकास िे  प्रौद्य नगकी के के्षत्र में क्रांनतकारी बर्दलाव नकया था। 

अब कृनत्रम बौखिकता िे नचनकत्सा से लेकर हनथयार  ंके निमायण तक 

हर के्षत्र में कंपू्यटर और र ब ट के प्रय ग क  िया आयाम नर्दया है। 

पारंपररक कंपू्यटर की रु्दनिया में इस प्रगनत के समािांतर एक और 

अिुसंधाि चल रहा है, निसका िाम है ‘क्ांटम कंपू्यनटंग’ यानि अनत-

सूक्ष्मता का नवज्ञाि। भारत िे भी अब इस के्षत्र में गनत लािे का ऐलाि 

कर नर्दया है। भौनतक-शास्त्र के क्ांटम नसिांत पर काम करिे वाली 

इस कंपू्यनटंग में असीनमत संभाविाएं रे्दखी िा रही हैं। श ध के नलहाि 

से यह नवषय नकसी के नलए भी रुनच का नवषय ह  सकता है। नवशेषज्ञ  ं

के अिुसार एक पूणय नवकनसत क्ांटम कंपू्यटर की क्षमता सुपर कंपू्यटर 

से भी ज्यार्दा आुँकी िा रही है। इस क्ांटम कंपू्यनटंग या मेकैनिक्स 
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की खास बात यह है नक इसकी शुरुआत के बार्द भारतीय और पनिमी 

वैज्ञानिक यह माि रहे हैं नक भारतीय भाववार्दी नसिांत क  िािे नबिा  

कण में चेतिा का आकलि िही ं नकया िा सकता। क्ांटम भौनतकी 

और कृनत्रम बौखिकता एक तरह से चेतिा के भाववार्दी नसिांत क  

ही अखस्तत्व में लािे के उपाय हैं। 

(क) उपयुयक्त गर्दयांश नकस नवषयवसु्त आधाररत है ?                  

i. कृनत्रम बौखिकता पर   

ii. रु्दनिया के नवकास पर   

iii. संगणक के प्रय ग पर   

iv. मािव अखस्तत्व पर  

1 

(ख) नर्दि रू्दिी, रात चौगुिी गनत से प्रगनत ह  रही है- पंखक्त से आशय 

है ?  

i. बहुत ही तेिी से नवकास   

ii. रात नर्दि काम करिा  

iii. चार  ंतरफ नवकास ह िा  

iv. बहुत अनधक नवकास ह िा   

1 

(ग) निम्ननलखखत कथि और निष्कषय क  ध्याि से पढ़कर नर्दए गए नवकल्प 

से सही उत्तर चुिकर नलखखए –                                      

कथि - क्ांटम कंपू्यटर की क्षमता सुपर कंपू्यटर से भी अनधक है।  

निष्कषय – इससे नवकास की गनत क  अनधक बल नमलेगा ।   

i. कथि सही है लेनकि निष्कषय गलत है।   

ii. कथि और निष्कषय र्द ि  ंसही हैं।   

iii. कथि गलत है और निष्कषय सही है। 

iv. कथि और निष्कषय र्द ि  ंगलत हैं। 

1 

(घ) िीवि क  सरल बिािे में प्र द्य नगकी की भूनमका क  स्पष्ट कीनिए 2 

(ङ) अनत-सूक्ष्मता का नवज्ञाि क्या है? 2 

2. सूरि हमारी ऊिाय की सारी कनमय  ंक  पूरा कर सकता है। यह एक नवशाल 

ररएक्टर िैसा है। वैज्ञानिक  ंका प्रयास है नक कृनत्रम सूरि क  धरती पर बिाया 

िाए। इसके नलए ये फू्यिि तकिीक पर काम कर रहे हैं। सूयय की चमक 

इन्साि  ंके नलए हिार  ंसाल से आियय की विह रही है। लेनकि करीब सौ साल 

पहले िई ख ि द्वारा पता चला नक सूयय की बेशुमार ऊिाय का कारण नू्यखियर 

फू्यिि है। नफर वैज्ञानिक  ंिे स चा नक अगर धरती पर उसी तरह का फू्यिि 

कराया िाए ि  सूयय में ह  रहा है त  बहुत कुछ बर्दल िाएगा और ल ग  ंक  

7 
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बेशुमार ऊिाय नमल िाएगी। आि रु्दनिया के सबसे बड़े नू्यखियर फू्यिि 

ररएक्टर में ईंधि परीक्षण क  शुरू कर नर्दया गया है। वैज्ञानिक  ंकी एक टीम 

फ्ांस में फू्यिि ररएक्टर क  ताकत रे्दिे के नलए हयडर  िि के एक अतं्यत रु्दलयभ 

रूप की क्षमता का परीक्षण कर रहे हैं। अगर उिका यह परीक्षण सफल ह ता 

है त  इससे रु्दनिया क  िीि एििी का एक बहुत बड़ा िररया नमल िाएगा। 

इससे ि केवल िीवाश्म इंधि  ंपर निभयरता घटेगी, बखि पयायवरण क  भी लाभ 

ह गा। नू्यखियर फू्यिि लंबे समय तक वातावरण में मौिूर्द रहिे वाले 

रेनडय धमी अपनशष्ट उत्पन्न िही ं करता। यह अक्षय ऊिाय से भी अनधक 

नवश्वसिीय ऊिाय स्र त है। िानभकीय संलयि द्वारा उत्पन्न ऊिाय मािविानत की 

लंबे समय से चली आ रही ख ि  ंमें सबसे महत्वपूणय है, क्य नंक यह तुलिात्मक 

रूप से काफी स्वच्छ है। अथायत यह कम काबयि का उत्सियि करती है, साथ 

ही यह तकिीकी र्दक्षता के साथ सौ फीसर्दी स्वच्छ भी है । 

(क)  उपयुयक्त गर्दयांश की नवषय-वसु्त है ?                              

i. सौर ऊिाय   

ii. स्वच्छ ऊिाय  

iii. िानभकीय ऊिाय 

iv. रेनडय धमी ऊिाय 

1 

(ख)  निम्ननलखखत कथि (A) तथा कारण (R) क  ध्यािपूवयक पनढ़ए । नर्दए   

गए नवकल्प  ंमें से क ई एक सही नवकल्प चुिकर नलखखए:      

कथि (A) - नू्यखियर फू्यिि सौर ऊिाय से भी नवश्वसिीय ऊिाय स्र त है ।   

कारण (R) – इससे रु्दनिया क  स्वच्छ ऊिाय प्राप्त ह गी।   

i. कथि (A) सही है,कारण (R)गलत है  

ii. कथि (A) तथा कारण (R) र्द ि  ंगलत हैं।  

iii. कथि (A) सही है , और कारण (R) उसकी सही व्याख्या है।  

iv. कथि (A) गलत है नकनु्त कारण (R) सही है। 

1 

(ग) वैज्ञानिक  ंद्वारा कृनत्रम सूरि क  धरती पर बिािे के पीछे कारण है 

– 

i. ऊिाय की कमी रू्दर करिे के नलए 

ii. पयायवरण के लाभ के नलए 

iii. प्राकृनतक ऊिाय संग्रह के नलए 

iv. फू्यिि तकिीक क  नसि करिे के नलए 

1 

(घ) सूयय क  असीनमत ऊिाय का स्‍त त्र त क य  ंमािा िाता है ?  2 

(ङ) िानभकीय ऊिाय िीवाश् म ईंधि  ंसे नकस प्रकार नभन् ि है ?  2 
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 खींड-ख 

(व्याविारिक व्याकिण) 

 

3. पर्दबंध’ पर आधाररत पाुँच प्रश्न  ंमें से नकन्ी ंचार प्रश्न  ंके उत्तर नलखखए – 4x1=4 

(क)  वज़ीर अली की िांबािी और साहनसक कारिाम  ंसे सभी पररनचत थे- वाक्य 

में से नवशेषण पर्दबंध चुिकर नलखखए। 

1 

(ख) नकसी वाक्य में संज्ञा पर्दबंध की पहचाि कैसे की िा िाती है,  उर्दाहरण रे्दकर 

स्पष्ट कीनिए। 

1 

(ग) सबकी सहायता करिे वाले आप आि उर्दास क्य  ं हैं - वाक्य में रेखांनकत 

पर्दबंध का भेर्द नलखखए। 

1 

(घ) मैं खेलते-कूर्दते कक्षा पास कर लेता हुँ - वाक्य में पर्दबंध का भेर्द बताते हुए 

कारण भी स्पष्ट कीनिए। 

1 

(ङ) नक्रया पर्दबंध का एक उर्दाहरण रे्दकर वाक्य में प्रय ग कीनिए। 1 

4. ‘रचिा के आधार पर वाक्य रूपांतरण’ पर आधाररत पाुँच प्रश्न  ंमें से नकन्ी ं

चार प्रश्न  ंके उत्तर नलखखए – 

4x1=4 

(क)  ‘र्दार्दा क  तार रे्दिे के नसवा तुम्हें और कुछ ि सूझेगा'- वाक्य का भेर्द नलखखए। 1 

(ख) भीड़ की अनधकता के कारण पुनलस िूलुस क  र क िही ंसकी - संयुक्त वाक्य 

में रूपांतररत कीनिए। 

1 

(ग) उर्दाहरण द्वारा सरल एवं नमश्र वाक्य में अंतर स्पष्ट कीनिए। 1 

(घ) संयुक्त वाक्य में समुच्चयब धक अव्यय की भूनमका स्पष्ट कीनिए। 1 

(ङ) गायि इतिा प्रभावी था नक वह अपिी सुध-बुध ख िे लगा - वाक्य का भेर्द 

बताते हुए कारण स्पष्ट कीनिए। 

1 

5. 'समास' पर आधाररत पाुँच प्रश्न  ंमें से नकन्ी ंचार प्रश्न  ं के उत्तर 

नलखखए -                                                       

4x1=4 

(क)  सामानसक पर्द अन्य व्याकरनणक पर्द  ंसे नकस प्रकार नभन्न ह ता है? 1 

(ख) ततु्परुष समास में पूवय पर्द और उत्तर पर्द की भूनमका स्पष्ट कीनिए। 1 

(ग) 'यथाशखक्त' अव्ययीभाव समास है कैसे? 1 

(घ) 'नत्रल कीिाथ' सामानसक पर्द का नवग्रह करते हुए भेर्द नलखखए। 1 

(ङ) नद्वगु समास की नवशेषता बताते हुए एक उर्दाहरण र्दीनिए। 1 

6. 'मुहावरे' पर आधाररत पाुँच प्रश्न  ंमें से नकन्ी ंचार प्रश्न  ंके उत्तर 

नलखखए -                                                    

4x1=4 
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(क)  भारतीय प्रशासनिक सेवा में चयनित ह िे के 

नलए..................................  करिी पड़ती 

है। (उपयुक्त मुहावरे द्वारा ररक्त स्‍तथाि की पूनतय कीनिए।) 

1 

(ख) समुद्र नकिारे शाम क  ततांरा र ि वामीर  

की.............................. था।   

(उपयुक्त मुहावरे द्वारा ररक्त स्‍तथाि की पूनतय कीनिए।) 

1 

(ग) शैलेंद्र का मुरझाया हुआ चेहरा रे्दखकर राि कपूर िे मुस्कराते हुए 

कहा, "निकाल  एक रुपया, पाररश्रनमक  पूरा एडवांस।" पंखक्त से 

मुहावरा चुिकर वाक्य में प्रय ग कीनिए। 

1 

(घ) 'काम तमाम कर रे्दिा और धूल में नमला रे्दिा मुहावरे में अंतर स्पष्ट 

कीनिए। 

1 

(ङ) ‘निराशा के बार्दल फटिा’ मुहावरे का वाक्य बिाइए। 1 

 खींड ग  

(पाठ्यपुस्तक) 

 

7. निम्ननलखखत गद्यांश क  पढ़ कर पूछे गए प्रश्न  ंके उत्तर सवायनधक उनचत 

नवकल्प से चुिकर नलखखए- 

5x1=5 

 

 मर्दालसा भी पकड़ी गई थी। उससे मालूम हुआ नक उसक  थािे में 

भी मारा गया था। सब नमलाकर 105 खस्त्रयाुँ पकड़ी गई थी।ं बार्द में 

रात क  िौ बिे सबक  छ ड़ नर्दया गया। कलकता में आि तक इतिी 

खस्त्रयाुँ एक साथ नगरफ्तार िही ंकी गई थी। करीब आि बिे खार्दी 

भंडार आए त  कांगे्रस ऑनफस से फ ि आया नक यहाुँ बहुत आर्दमी 

च ट खाकर आए हैं और कई की हालत संगीि है उिके नलए गाडी 

चानहए। िािकी रे्दवी के साथ वहाुँ गए, बहुत ल ग  ंक  च ट लगी हुई 

थी। डॉ र्दास गुप्ता उिकी रे्दख-रेख तथा फ ट  उतरवा रहे थे। उस 

समय तक 67 आर्दमी वहाुँ आ चुके थे। बार्द में त  103 तक आ 

पहंुचे। 
 

 

(क)  मर्दालसा क  थािे में भी मारा गया था- इस कथि से अंगे्रिी शासि 

की नकस  मािनसकता का पता चलता है? 

i. खस्त्रय  ंपर नहंसा  

ii. र्दमिकारी िीनत 

iii. बर्दले की भाविा 

iv. अंगे्रि  ंकी कू्ररता 

1 

(ख) ‘सब नमलाकर 105 खस्त्रयाुँ पकड़ी गई थी’ कथि से निष्कषय निकलता 

है नक--- 

1 
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i. आंर्द लि में पुरुष  ंकी संख्या कम थी। 

ii. पुनलस खस्त्रय  ंक  अनधक नगरफ्तार कर रही थी। 

iii. म िुमेट पर खस्त्रयाुँ आगे की पंखक्त में थी। 

iv. आंर्द लि में खस्त्रय  ंिे बढ़-चढ़ कर नहस्सा नलया था। 

(ग) इस गर्दयांश का सूत्रधार आप नकसे मािते है ? 

i. पूणोर्दास 

ii. मर्दालसा 

iii. सीताराम 

iv. िािकी रे्दवी 

1 

(घ) यहाुँ बहुत आर्दमी च ट खाकर आए हैं और कई की हालत संगीि है 

- पखक्त में 'संगीि' का अथय है- 

i. गंभीर 

ii. घायल 

iii. मूखच्छत 

iv. िािुक 

1 

(ङ) निम्ननलखखत कथि (A) तथा कारण (R) क  ध्याि से पनिए तथा 

सवायनधक उनचत नवकल्प क  चुि कर नलखखए : 

कथि (A) - डॉ र्दास गुप्ता उिकी रे्दख-रेख तथा फ ट  उतरवा रहे 

थे। 

कारण (R) वे आंर्द लि के बारे में साक्ष्य एकनत्रत कर रहे थे। 

i. कथि (A) तथा कारण (R) र्द ि  ंगलत है 

ii. कथि (A) तथा कारण (R) र्द ि  ंसही है 

iii. कथि (A) गलत है तथा कारण (R) सही है 

iv. कथि (A) सही है लेनकि कारण (R) उसकी गलत व्याख्या  

करता है 

1 

8. गद्य खींड पि आर्ारिि तिम्नतिखखि प्रश्नो ीं में से तकन् ीं ि ि प्रश्नो ीं के 

उत्ति िगभग 25-30 र्ब्ोीं में तिखखए -     

3X2=6 

(क)  ‘मेरे रे्दखते तुम बेराह ि चलिे पाओगे’ – पंखक्त से बड़े भाई के कतयव्य और 

अनधकार का पता कैसे चलता है?   

2 

(ख) ‘िीवि में पहली बार मैं इस तरह नवचनलत हुआ हुँ’ – तताुँरा िे ऐसा क्य  ं

कहा ह गा ? 

2 

(ग) शैलेंद्र िे राि कपूर की भाविाओ ंक  शब्द नर्दए हैं, कैसे ? 2 

(घ) सआर्दत अली खाुँ में रे्दशपे्रम का अभाव था, स्पष्ट कीनिए। 2 

9. तिम्नतिखखि काव्याींर् को पढ़कि प्रश्नो ीं के सवाशतर्क उपयुक्त तवकल्ोीं का 

चयि क तिए-                                              

5x1=5 

 चल  अभीष्ट मागय में सहषय खेलते हुए   
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नवपनत्त, नवघ्न ि  पड़े उन्ें िकेलते हुए  

घटे ि हेल–मेल हाुँ बढ़े ि नभन्नता कभी 

अतकय  एक पंथ के सतकय  पंथ ह  ंसभी  

तभी समथय भाव है नक तारता हुआ तरे  

वही मिुष्य है नक ि  मिुष्य के नलए मरे  

(क)  िीवि में निधायररत लक्ष्य कैसे प्राप्त नकया िा सकता है? 

i. संपकय  बढ़ािे से     

ii. साधि िुटािे से  

iii. सतत प्रयत्नशील रहिे से        

iv. लक्ष्य का ध्याि करिे से  

1 

(ख) कनव क  नकस बात का डर है ? 

i. रू्दररयाुँ बढ़िे की         

ii. पे्रम कम ह िे की    

iii. सहय ग में कमी       

iv. एकता की भाविा का  

1 

(ग) निम्ननलखखत कथि (A) तथा कारण (R) क  ध्यािपूवयक पनढ़ए। उसके 

बार्द नर्दए गए नवकल्प में से क ई एक सही नवकल्प चुिकर नलखखए। 

अनभकथि (A)  – कनव मिुष्य के नलए मिुष्यता का ह िा अनिवायय मािता 

है।   

कारण (R) – मिुष्यता के नलए संत ष का ह िा आवश्यक िही ंहै।  

i. कथि (A) गलत है, नकंतु कारण (R) सही है। 

ii. कथि (A) और कारण (R) र्द ि  ंही गलत हैं। 

iii. कथि (A) सही है और कारण (R) कथि (A) की सही व्याख्या 

है। 

iv. कथि (A) सही है नकंतु कारण (R) कथि (A) की सही व्याख्या 

िही ंहै। 

1 

(घ) कनव समथय भाव नकसे मािता है?   

i. स्वाथय भाविा क  सबल बिािा          

ii. कायय में सफलता प्राप्त करिा     

iii. कायय के प्रनत लगिशील रहिा       

iv. स्वयं के साथ रू्दसरे क  भी आगे बढ़ािा 

1 

(ङ) ‘अतकय  एक पंथ के सतकय  पंथ ह  ंसभी’ – पंखक्त का भाव है – 

i. तकय हीिता           

ii. भावुकता      

iii. िकारात्मकता        

iv. सकारात्मकता 

1 
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10. काव्य खंड पर आधाररत निम्ननलखखत प्रश्न  ंमें से नकन्ी ंतीि प्रश्न  ंके उत्तर 

लगभग 25-30 शब्द  ंमें नलखखए -     

3x2=6 

(क)  प्रते्यक व्यखक्त की नवशेषता उसके भीतर निनहत ह ती है। कबीर की साखी से 

उर्दाहरण रे्दकर स्पष्ट कीनिए। 

2 

(ख) िीवि में सुख-रु्दख धूप और बार्दल की तरह ह ते हैं। 2 

(ग) ‘पवयत प्ररे्दश में पावस’ कनवता से क ई एक उर्दाहरण रे्दकर नसि कीनिए। 2 

(घ) त प िैसे ल ग  ंका पररणाम भी त प िैसा ही ह ता है, नवचार व्यक्त कीनिए। 2 

(ङ) मिुष्य क  अपिे साहस और पुरुषाथय पर भाग्य से अनधक भर सा रखिा चानहए। 

‘आत्मत्राण’ कनवता के आधार पर नसि कीनिए। 

2 

11. पूरक पुस्तक ‘संचयि’ पर आधाररत निम्ननलखखत प्रश्न  ंमें से नकन्ी ं

र्द  प्रश्न  ंके उत्तर लगभग 40-50 शब्द  ंमें नलखखए -        

2x3=6 

(क)  भारत एक बहुधानमयक समाि वाला रे्दश है। सामानिक सद्भाव के नलए ‘ट पी 

शुिा’ पाि आपक  कैसे मर्दर्द करता है? 

3 

(ख) सृ्मनतयाुँ सरै्दव सुखर्द ह ती है। ‘सपि  ंके-से नर्दि’ पाि में लेखक िे अपिी 

सृ्मनतय  ंक  साझा नकया है। आप भी इस प्रकार की क ई सृ्मनत साझा कर 

बताइए नक वह आपक  क्य  ंअच्छी लगती है? 

3 

(ग) आि शहरी एवं ग्रामीण िीवि में अकेलापि एक आम समस्या ह  गई 

है। इससे कैसे मुक्त हुआ िा सकता है। ‘हररहर काका’ पाि के 

संर्दभय में युखक्तयुक्त उत्तर र्दीनिए। 

3 

 खींड घ 

(िचिात्मक िेखि) 

 

12. निम्ननलखखत में से नकसी एक नवषय पर नर्दए गए संकेत- नबन्रु्दओ ंके 

आधार पर लगभग 120 शब्द  ंमें एक अिुचे्छर्द नलखखए -                   

1x5=5 

 (i) चुिाव में मिदाि का मित्व     

● चुिाव क्या है 

● चुिाव की आवश्यकता  

● मतर्दाि का महत्व  
     

(ii) स्वच्छिा में आम आदम  क  भूतमका    

● स्वच्छता क्य  ंआवश्यक 

● स्वच्छता का स्वास्थ्य पर प्रभाव 

● हमारी भूनमका  
   

(iii) याींतत्रक सुतवर्ाओीं का पयाशविण पि प्रभाव     

● यांनत्रक सुनवधा से अनभप्राय 

● यंत्र  ंकी अधीिता   
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● पयायवरण पर प्रभाव   

13. तिम्नतिखखि में से तकस  एक तवषय पि िगभग 100 र्ब्ोीं में पत्र तिखखए 
-                                                 

1x5=5 

 आप श्याम/र्दीपनशखा हैं l नवद्यालय में  भाषा प्रय गशाला खुलवािे के 

नलए प्रधािाचायय क  पत्र  नलखखए निससे नवद्याथी भाषा की ध्वनिय  ंक  

समझकर श्रवण एवं वाचि कौशल का नवकास कर सकें  ।                  

                              अथवा 

आप बी-43, आकाश नवहार, नर्दल्ली निवासी रािि/ रम्या हैं l  हर 

साल ह िे वाली ‘परीक्षा पर चचाय’ पर अपिे नवचार व्यक्त करते हुए 

नकसी प्रनतनित समाचार-पत्र के संपार्दक क  पत्र नलखखए l   

 

 

14. तिम्नतिखखि में से तकस  एक तवषय पि िगभग 60 र्ब्ोीं में सूचिा 

तिखखए-  

 

आप राहुल/र शिी हैं। आप अपिे सू्कल के नवद्याथी पररषर्द के सनचव हैं l  

आपके सू्कल में अंतनवयद्यालयी ‘वार्द नववार्द प्रनतय नगता का आय िि नकया िा 

रहा है। इस नवषय में सभी नवद्यानथयय  ंक  िािकारी रे्दिे हेतु एक सूचिा तैयार 

कीनिए l                                                          

अथवा 

आप वैशाली निवासी अमर/अवनि हैं। आप अपिे के्षत्र के ‘निवासी कल्याण 

संघ’ के सनचव हैं। अपिे के्षत्र में लगिे वाले रक्तर्दाि नशनवर की िािकारी रे्दते 

हुए एक सूचिा नलखखए l 
 

1x4=4 

15. तिम्नतिखखि में से तकस  एक तवषय पि िगभग 40 र्ब्ोीं में 

तवज्ञापि तिखखए-                                                    

 

आपिे खेल सामग्री की एक िई रु्दकाि ख ली है। अपिी रु्दकाि के बारे में 

िािकारी रे्दते हुए एक आकषयक नवज्ञापि तैयार कीनिए।  

अथवा 

‘भ्रष्टाचार मुक्त भारत’ के नवषय में ल ग  ंक  िागरूक करते हुए सरकार की 

ओर से एक नवज्ञापि तैयार कीनिए l 

1x3=3 

16. एक शाम िब मैं घर में बैिी थी तभी अचािक नकसी िे ज़ र से र्दरवािा 

खटखटाया। मैं चौकं 

गया/गई...............................’ पंखक्त से लगभग 

100 शब्द  ंमें िघुकथा नलखखए l                                  

                      अथवा 

1x5=5 
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आप शखक्त/संयम हैं। आप लालटेि गंि में रहते हैं। आपके के्षत्र में नपछले एक 

महीिे से नबिली की गंभीर समस्या चल रही है। इसकी िािकारी रे्दते हुए 

नबिली नवभाग के वररि अनधकारी क  लगभग 80 शब र्द  ंमें ई-मेि नलखखए। 
 



 

SAMPLE QUESTION PAPER  

Class X Session 2024-25  

MATHEMATICS STANDARD (Code No.041)  

TIME: 3 hours                                                                                                      MAX.MARKS: 80 

 

 General Instructions: 

Read the following instructions carefully and follow them: 

1. This question paper contains 38 questions. 
2. This Question Paper is divided into  5 Sections A, B, C, D and E. 

3. In Section A, Questions no. 1-18 are multiple choice questions (MCQs) and questions no. 19 
and 20 are Assertion- Reason based questions of 1 mark each. 

4. In Section B, Questions no. 21-25 are very short answer (VSA) type questions, carrying 02 marks 
each. 

5. In Section C, Questions no. 26-31 are short answer (SA) type questions, carrying 03 marks each. 

6. In Section D, Questions no. 32-35 are long answer (LA) type questions, carrying 05 marks each. 

7. In Section E, Questions no. 36-38 are case study based questions carrying 4 marks each with 
sub parts of the values of 1, 1 and 2 marks each respectively. 

8. All Questions are compulsory. However, an internal choice in 2 Question of Section B, 2 
Questions of Section C and 2 Questions of Section D has been provided. An internal choice has 
been provided in all the 2 marks questions of Section E.  

9. Draw neat and clean figures wherever required.  

10. Take π =22/7 wherever required if not stated. 

11. Use of calculators is not allowed. 

 
 

 Section A  

 Section A consists of 20 questions of 1 mark each.  

1.  The graph of a quadratic polynomial p(x) passes through the points (-6,0), (0, -30),    

(4,-20) and (6,0). The zeroes of the polynomial are 

A) - 6,0                   B) 4, 6                     C) - 30,-20                        D) - 6,6 

 

1 

2. The value of k for which the system of equations 3x-ky= 7 and 6x+ 10y =3 is 

inconsistent, is 

A) -10                    B) -5                        C) 5                                  D) 7 

 

1 

3. Which of the following statements is not true? 

A) A number of secants can be drawn at any point on the circle. 

B) Only one tangent can be drawn at any point on a circle. 

C) A chord is a line segment joining two points on the circle 

D) From a point inside a circle only two tangents can be drawn. 

1 

4. If nth term of an A.P. is 7n-4 then the common difference of the A.P. is 

A) 7                         B) 7n                        C) - 4                               D) 4 

 

1 



 

5. The radius of the base of a right circular cone and the radius of a sphere are each 5 cm 

in length. If the volume of the cone is equal to the volume of the sphere then the height 

of the cone is  

A) 5 cm            B)    20 cm                       C)  10 cm                      D)    4 cm 

1 

6. 
If tan𝜃 = 

5

2
 then 

4 𝑠𝑖𝑛𝜃 + 𝑐𝑜𝑠𝜃

4 𝑠𝑖𝑛𝜃  − 𝑐𝑜𝑠𝜃
 is equal to 

A) 
11

9
                  B) 

3

2
                         C) 

9

11
                             D) 4 

1 

7. In the given figure, a tangent has been drawn at a point P on the circle centred at O. 

 

 If ∠ TPQ= 110𝑂  then ∠POQ is equal to 

A) 110𝑂                              B) 70𝑂                        C) 140𝑂                            D)55𝑂  

1 

8. 
A quadratic polynomial having zeroes - √5

2
   and  √5

2
  is 

A)  𝑥2 −  5√2 x +1           B) 8𝑥2 - 20      C) 15𝑥2- 6               D) 𝑥2 - 2√5  x -1  

 

1 

9. Consider the frequency distribution of 45 observations. 

 

Class 0-10 10-20 20-30 30-40 40-50 

Frequency 5 9 15 10 6 

The upper limit of median class is 

A) 20                           B) 10                          C) 30                                D) 40 

1 

10. O is the point of intersection of two chords AB and CD of a circle. 

  

If  ∠𝐵𝑂𝐶 = 80𝑂  and OA = OD then 𝛥𝑂𝐷𝐴 𝑎𝑛𝑑  𝛥𝑂𝐵𝐶 are 

A) equilateral and similar                       B) isosceles and similar                                       

C) isosceles but not similar                    D) not similar 

 

 

1 

 

Q 

O 

P T 

 
 

 

A 

D 

B 

C 

O 
  



 

11. The roots of the quadratic equation 𝑥2+x-1 = 0 are 

A) Irrational and distinct                               B) not real      

      C ) rational and distinct                                D) real and equal 

1 

12. If 𝜃 = 30𝑜   then the value of 3tan𝜃   is 

A)1                        B) 
1

√3
                     C ) 

3

√3
               (D) not defined 

1 

13. 
The  volume of a solid hemisphere is 

396

7
 𝑐𝑚3.The total surface area of the solid 

hemisphere (in sq.cm) is 

       A) 
396

7
                   B)  

594

7
                       C)  

549

7
                     D)  

604

7
 

   

1 

14. In a bag containing 24 balls, 4 are blue, 11 are green and the rest are white. One ball is 

drawn at random. The probability that drawn ball is white in colour is 

𝐴)
1

6
               B) 

3

8
                  C ) 

11

24
                    D) 

5

8
  

1 

15. The point on the x- axis nearest to the point (-4,-5) is 

A) (0, 0)             B) (-4, 0)                     C ) (-5, 0)               D) (√41, 0) 

1 

16. Which of the following gives the middle most observation of the data? 

A) Median          B) Mean                       C) Range              D) Mode 

1 

17. A point on the x-axis divides the line segment joining the points A(2, -3) and B(5, 6) in 

the ratio 1:2. The point is 

A) (4, 0)             B) (
7

2
 , 

3

2
 )                C) (3, 0)                   D) (0,3) 

1 

18. A card is drawn from a well shuffled deck of playing cards. The probability of getting red 

face card is 

𝐴) 
3

13
                B) 

1

2
                      C) 

3

52
                           D) 

3

26
  

1 

 DIRECTION: In the question number 19 and 20, a statement of Assertion (A) is 

followed by a statement of Reason (R). 

Choose the correct option 

A)Both assertion (A) and reason (R) are true and reason (R) is the correct  

explanation of assertion (A) 
B)Both assertion (A) and reason (R) are true and reason (R) is not the correct 

explanation of assertion (A) 
C)Assertion (A) is true but reason (R)  is false. 

D)Assertion (A)  is false but reason (R) is true. 

 

19. Assertion (A): HCF of any two consecutive even natural numbers is always 2. 

Reason (R): Even natural numbers are divisible by 2. 

1 

20. Assertion (A): If the radius of sector of a circle is reduced to its half and angle is 

doubled then the perimeter of the sector remains the same. 

1 



 

Reason (R): The length of the arc subtending angle θ at the centre of a circle of radius r 

= 
𝛱𝑟𝜃

180
. 

                                                                 Section B  

 Section B consists of 5 questions of 2 marks each.  
 

 

21. 
 
      
 

      (A)Find the H.C.F and L.C.M of 480 and 720 using the Prime factorisation method. 

                                                               OR 

(A) The H.C.F of 85 and 238 is expressible in the form 85m -238. Find the value of 

m. 

2 

22. 
 
 
 
     

(A) Two dice are rolled together bearing numbers 4, 6, 7, 9, 11, 12. Find the 

probability that the product of numbers obtained is an odd number 

                                                                OR 

(B) How many positive three digit integers have the hundredths digit 8 and unit’s 

digit 5? Find the probability of selecting one such number out of all three digit 

numbers. 

2 

23. 
Evaluate:  

2𝑠𝑖𝑛 260𝑜   − 𝑡𝑎𝑛230𝑜

𝑠𝑒𝑐2 45𝑜
 

2 

24. Find the point(s) on the x-axis which is at a distance of √41   units from the point (8, -5). 2 

25.  
 
       

Show that the points A(-5,6), B(3, 0) and C( 9, 8) are the vertices of an isosceles 

triangle.                        

2 

 Section C  

 Section C consists of 6 questions of 3 marks each.  

26.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
      

(A) In 𝛥ABC, D, E and F are midpoints of BC,CA and AB respectively. Prove that  

△ 𝐹𝐵𝐷 ∼ △ DEF and   △ DEF ∼ △ ABC 

 
                                                              OR 

 

(B) In 𝛥ABC, P and Q are points on AB and AC respectively such that PQ is parallel 

to BC. 

3 



 

 Prove that the median AD drawn from A on BC bisects PQ.  

 
 

27. The sum of two numbers is 18 and the sum of their reciprocals is 9/40. Find the 

numbers. 

3 

28. If 𝛼  and 𝛽 are zeroes of a polynomial 6𝑥2 -5x+1 then form a quadratic 

polynomial whose zeroes are 𝛼2 and 𝛽2.                                             

3 

29. If cosθ + sinθ = 1 , then prove that cosθ - sinθ = ±1 3 

30. (A) The minute hand of a wall clock is 18 cm long. Find the area of the face 

of the clock described by the minute hand in 35 minutes.  

                                                           OR 

(B) AB is a chord of a circle centred at O such that ∠AOB=60˚.  If OA = 14 cm 

then find the area of the minor segment. (take √3 =1.73) 

 
 

3 

31. Prove that √3 is an irrational number. 3 

                                                              Section D  

 Section D consists of 4 questions of 5 marks each   

32. (A) Solve the following system of linear equations graphically: 

 x+2y = 3, 2x-3y+8 = 0 

                                                              OR 

(B) Places A and B are 180 km apart on a highway. One car starts from A and 

another from B at the same time. If the car travels in the same direction at 

5 

 

A 

P 
R 

Q 

B D C 

 
O 

A B 



 

different speeds, they meet in 9 hours. If they travel towards each other with the 

same speeds as before, they meet in an hour. What are the speeds of the two 

cars? 

33. Prove that the lengths of tangents drawn from an external point to a circle are equal. 

 

Using above result, find the length BC of 𝛥ABC. Given that, a circle is inscribed in 

𝛥ABC touching the sides AB, BC and CA at R, P and Q respectively and AB= 10 cm, 

AQ= 7cm ,CQ= 5cm.  

     

5 

34. A boy whose eye level is 1.35 m from the ground, spots a balloon moving with the wind 

in a horizontal line at some height from the ground. The angle of elevation of the 

balloon from the eyes of the boy at an instant is 60𝑜. After 12 seconds, the angle of 

elevation reduces to 30°. If the speed of the wind is 3m/s then find the height of the 

balloon from the ground. (Use √3= 1.73) 

5 

35. Find the mean and median of the following data: 

 

Class 85-90 90-95 95-100 100-105 105-110 110-115 

frequency 15 22 20 18 20 25 

 

                                                                  OR 

The monthly expenditure on milk in 200 families of a Housing Society is given below 

Monthly 
Expendit
ure 
(in Rs.) 

1000-
1500 

1500-
2000 

2000-
2500 

2500-
3000 

3000-
3500 

3500-
4000 

4000-
4500 

4500-
5000 

Number 
of 
families 

24 40 33 x 30 22 16 7 

 

Find the value of x and also find the mean expenditure 

5 
 
 
 
 
 
 
 
 
 
 

                                                                      Section E  

 Section E consists of 3 case study based questions of 4 marks each.  

36. Ms. Sheela visited a store near her house and found that the glass jars are arranged 

one above the other in a specific pattern. 

 
 

 
 

A 

B C 
P 

Q R 



 

On the top layer there are 3 jars. In the next layer there are 6 jars. In the 3rd layer from 

the top there are 9 jars and so on till the 8th layer. 

 

On the basis of the above situation answer the following questions. 

 

(i) Write an A.P whose terms represent the number of jars in different layers starting  

from top . Also, find the common difference. 

 

(ii) Is it possible to arrange 34 jars in a layer if this pattern is continued? Justify your 

answer. 

 

 

(iii) (A) If there are ‘n’  number of rows in a layer then find the expression for finding the 

total number of jars in terms of n. Hence find 𝑆8 . 

                                                             OR 

(iii) (B) The shopkeeper added 3 jars in each layer. How many jars are there in the 5th 

layer from the top? 

                                                         . 

 

 
 
 
 
 
 
 
1 
 
 
1 
 
 
 
2 
 
 
2 
 
 

37. 

 

 
Triangle is a very popular shape used in interior designing. The picture given above 

shows a cabinet designed by a famous interior designer. 

Here the largest triangle is represented by △ ABC and smallest one with shelf is 

represented by △ DEF. PQ is parallel to EF. 

(i) Show that △ DPQ ∼ △ DEF. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1 
 

 
 

A 

B C 

D 

E F 

P Q 



 

(ii) If DP= 50 cm and PE = 70 cm then find   
𝑃𝑄

𝐸𝐹
 .  

 

(iii) (A) If 2AB = 5DE and △ ABC ∼ △ DEF then show that 
𝑝𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝑜𝑓 △𝐴𝐵𝐶

𝑝𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝑜𝑓 △𝐷𝐸𝐹
 is constant. 

                                                              OR 

(iii) (B) If AM and DN are medians of triangles ABC and DEF respectively then prove 

that  △ ABM ∼ △ DEN. 

 

 
1 
 
 
 
2 
 
 
2 

38.  

Metallic silos are used by farmers for storing grains. Farmer Girdhar has decided to 

build a new metallic silo to store his harvested grains. It is in the shape of a cylinder 

mounted by a cone.  

Dimensions of the conical part of a silo is as follows: 

Radius of base = 1.5 m 

Height = 2 m 

Dimensions of the cylindrical part of a silo is as follows: 

Radius = 1.5 m 

Height = 7 m 

On the basis of the above information answer the following questions. 

 (i)  Calculate the slant height of the conical part of one silo. 

 

(ii) Find the curved surface area of the conical part of one silo. 

 

(iii)(A) Find the cost of metal sheet used to make the curved cylindrical part of 1 silo at 

the rate of  ₹2000 per 𝑚2.  

                                                OR 

(iii) (B) Find the total capacity of one silo to store grains. 

 
 
 
 
 
 
 
 
 
 
 
 
 
1 
 
1 
 
 
2 
 
 
2 

 

                                         

 

                                                         



SCIENCE SQP (2024-25) 

CLASS X  

 (Science 086) 

Max. Marks: 80                                                                      Time Allowed: 3 hours  

General Instructions: 

1. All questions would be compulsory. However, an internal choice of approximately 33% 

would be provided. 50% marks are to be allotted to competency-based questions. 

2. Section A would have 16 simple/complex MCQs and 04 Assertion-Reasoning type 

questions carrying 1 mark each. 

3. Section B would have 6 Short Answer (SA) type questions carrying 02 marks each. 

4. Section C would have 7 Short Answer (SA) type questions carrying 03 marks each. 

5. Section D would have 3 Long Answer (LA) type questions carrying 05 marks each. 

6. Section E would have 3 source based/case based/passage based/integrated units of 

assessment (04 marks each) with sub-parts of the values of 1/2/3 marks. 

 

Section-A  
Question 1 to 16 are multiple choice questions. Only one of the choices is correct. Select and 
write the correct choice as well as the answer to these questions.  

1 Identify ‘p’, ‘q’ and ‘r’ in the following balanced reaction 

                 Heat 
p Pb (NO3)2(s) ------> q PbO(s) + r NO2(g) + O2(g) 

A. 2,2,4 

B. 2,4,2 

C. 2,4,4 

D. 4,2,2 

1 

2 Match column I with column II and select the correct option using the given 
codes. 

Column I Column II 

a. A metal that forms amphoteric oxides (i) Ga 

b. A metal which melts when kept on our palm (ii) Au 

c. A metal that reacts with nitric acid (iii) Al 

d. A metal which cannot displace hydrogen from 
acids 

(iv) Mn 

 

A. a – (ii), b – (i), c – (iii), d – (iv) 

B. a – (iii), b – (i), c – (iv), d – (ii) 

C. a – (iv), b – (ii), c – (iii), d – (i) 

D. a – (iii), b – (ii), c – (i), d – (iv)  

1 



3  
 
 
 
 
 
 
 
The solution in the given figure is likely to be 
A. HNO3 

B. C2H5OH 

C. H2SO4 

D. CO2 in water 

- - - - - - - - - - - - - - 

For Visual Impaired Students  

Which among the following is considered as the strongest electrolyte? 
A. Dilute acid 

B. Dilute sugar solution 

C. Glucose solution 

D. Ethanol in water 

1 

4 An aqueous solution ‘A’ turns the phenolphthalein solution pink. On addition of 
an aqueous solution ‘B’ to ‘A’, the pink colour disappears. Which of the following 
statement is true for the solutions ‘A’ and ‘B’. 

A.  A is strongly basic and B is a weak base. 

B. A is strongly acidic and B is a weak acid. 

C. A has a pH greater than 7 and B has a pH less than 7. 

D. A has a pH less than 7 and B has a pH greater than 7. 

1 

5 When 50g of lead powder is added to 300 ml of blue copper sulphate 
solution, after a few hours, the solution becomes colourless. This is an 
example of 
A. Combination reaction 

B. Decomposition reaction 

C. Displacement reaction 

D. Double displacement reaction 

1 

6 The electronic configuration of three elements X, Y and Z are X- 2, 8, 7; Y- 2, 
8, 2; and Z - 2, 8 

A. Y and Z are metals 
B. Y and X are non-metals 
C. X is a non -metal and Y is a metal 

D. Y is a non-metal and Z is a metal 

1 

7 Which of the following is an endothermic reaction? 
A. Burning of candle. 
B. Cooking of food. 
C. Decomposition of Vegetable matter. 
D. Reaction of Sodium with air 

1 



8 During cellular oxidation of Glucose, ATP is produced along with formation of 

other products in this reaction. Which of the following events is associated with 

production of maximum ATP molecules per molecule of Glucose during this 

process? Synthesis of 

A. ethanol in yeast 

B. lactic acid in muscle cells 

C. carbon dioxide in yeast cells 

D. carbon dioxide in human cells 

1 

9 During which of the following stages of the circulation of blood in a normal 

human being, the oxygenated blood is pumped to all parts of the body? 

A. contraction of the left atrium 

B. contraction of left ventricle 

C. relaxation of the right atrium 

D. relaxation of the right ventricle 

1 

10 Which of the following adaptations in herbivores helps in digestions of 

cellulose? 

A. Longer large intestine 

B. Smaller large intestine 

C. Smaller small intestine 

D. Longer small intestine 

1 

11 There was a cerebellar dysfunction in a patient. Which of the following activities 

will get disturbed in this patient as a result of this? 

A. Salivation 

B. Hunger control 

C. Posture and balance 

D. Regulation of blood pressure 

1 

12 In snails individuals can begin life as male and depending on environmental 

conditions they can become female as they grow. This is because 

A. male snails have dominant genetic makeup. 

B. female snails have dominant genetic makeup. 

C. expression of sex chromosomes can change in a snail’s life time. 

D. sex is not genetically determined in snails. 

1 

13 In the following cases, a ray is incident on a concave mirror. In which case 

is the angle of incidence equal to zero? 

A. A ray parallel to the principal axis. 

B. A ray passing through the centre of curvature and incident obliquely. 

C. A ray passing through the principal focus and incident obliquely.  

D. A ray incident obliquely to the principal axis, at the pole of the mirror.  

1 



14  
 
 
 
 
 
 
 
 
 
Choose the correct option for the colour of rays for A and B. 
 

 Colour of Ray A Colour of Ray B 

A. Blue Red 

B. Green Yellow 

C. Red Violet 

D. Violet Indigo 
 

1 

15 Identify the incorrect statement   
‘The energy available to the producers is maximum’ because:  

A. It is the first trophic level which absorbs1% of light energy directly from 
the source. 

B. It utilizes the most of the chemical energy for its own respiration, growth, 
reproduction, movement etc.  

C. It utilizes 10% of light energy and transfers the rest to the next trophic 
level.  

D. It transfers only 10% of light energy to the next trophic level. 

1 

16 Which of the following is not a role of decomposers in the ecosystem?  
A. Natural replenishment of soil.  
B. Enrichment of oxygen in atmosphere. 
C. Waste decomposition. 
D. Break-down of dead remains. 

1 

Question No. 17 to 20 consist of two statements – Assertion (A) and Reason (R). Answer 
these questions by selecting the appropriate option given below:  

A. Both A and R are true, and R is the correct explanation of A.  
B. Both A and R are true, and R is not the correct explanation of A.  
C. A is true but R is false.  
D. A is false but R is true 

17 Assertion (A):  On adding dil. HCl to a test tube containing a substance ‘X’, a 
colourless gas is produced which gives a pop sound when a burning match 
stick is brought near it.  
Reason (R): In this reaction metal ‘X’ is displaced by Hydrogen. 

1 

18 Assertion (A):  The number of chromosomes in a cell and in a germ cell is not 
the same in any species.   
Reason (R): When 2 germ cells combine they restore the normal number of 
chromosomes in a species.  

1 



19 Assertion (A): A convex mirror always forms an image behind it and the image 
formed is virtual. 
Reason (R): According to the sign convention, the focal length of a convex 
mirror is positive. 

1 

20 Assertion (A): If the lions are removed from a food chain it will not affect the 
food chain, however if the plants are removed from a food chain it will disturb 
the ecosystem.   
Reason (R): Plants are producers who can make food using sunlight, while 
lions are consumers.  

1 

Section-B 
Question No. 21 to 26 are very short answer questions 

21 Identify the type of each of the following reactions stating the reason for your 
answers. 

A. Fe2O3 + 2Al → Al2O3 + 2Fe + heat 
B. Pb (NO3)2 + 2KI → PbI2( )+ 2KNO3 

2 

22 Differentiate between alveoli and nephron on the basis of the following points: 

S. No. Feature Alveoli Nephron 

1 Structure and location   

2 Function   
 

2 

23 Attempt either option A or B. 

A. List the steps for the synthesis of glucose by the plants. What special 
feature is found in desert plants related to this process? 

OR 

B. Explain the role of the following enzymes in the process of digestion of food 
in humans: 

(i) Salivary amylase 
(ii) Pepsin 
(iii) Trypsin 
(iv) Lipase 

2 

24 

 
The above figure shows the formation of an image by a lens shown by a thick 
line.  

2 



Analyse the figure and answer the following questions. 
A. What is the type of lens used? 
B. What is the nature of the image? 

C. If the image is formed at a distance of 30 cm from the lens and the 
image is twice the size of the object, then where is the object placed? 

- - - - - - - - - - - - - - 

For visually impaired students 

A. What type of lens always forms a virtual erect and diminished image? 
B. List two uses of such a lens. 

25 Attempt either option A or B. 

A.  

 
 
 
 
 
 
 
 
 
 
The electric circuit (above figure) in a clothes dryer contains two heaters X 
and Y in parallel. The above figure shows the circuit connected to a 230 V 
power supply. When both switches are closed, the current in X is 3.5 A. 

 
Analyse the circuit given above and answer the following questions. 
(i) Calculate the power developed in heater X. 
(ii) If the resistance of X is double that of Y calculate the current in heater 

Y. 

OR 

B.  

 
The above figure shows two resistors X and Y connected in series to a 
battery. The power dissipated for this combination is P1. When these resistors 

2 



are connected in parallel to the same battery then the power dissipated is 

given by P2. Find out the ratio 
𝑃1

𝑃2
. 

- - - - - - - - - - - - - - 

For visually impaired students 

A. We have four resistors A, B, C and D of resistance 3 Ω, 6 Ω ,9 Ω and 12 
Ω respectively. Find out the lowest resistance which can be obtained by 
combining these four resistors. 

OR 
B. You are given 2 fuse wires A and B with current ratings 2A and 5A 

respectively. Justify with reason which of the two would you use with a 
1000W, 220V room heater? 

26 The cartoon below addresses a growing concern:  
 

 
main.jpg (1148×574) (frontiersin.org) 

 
What impact will the process shown in the image have on Humans if they 
occupy the last trophic level? Explain.  

- - - - - - - - - - - - - - 

For visually impaired students 

Create a food chain with more than 2 trophic levels that exists in the 
cabbage farm.  If Humans occupy the last trophic level, then how would 
spraying pesticide affect the humans? Explain. 

2 

Section-C 
Question No. 27 to 33 are short answer questions 

27 A. Anirudh took two metal oxides; aluminium oxide and magnesium oxide as 
shown in the pictures given below.  But he forgot to label them.  How will 
you guide/ help Anirudh to identify the oxides and label them?  

3 
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B. In an activity Aishu was given two substances; Copper Sulphide (Cu2S) 
and Copper Oxide (Cu2O) to obtain copper from these compounds. She 
was able to extract Copper successfully.  Illustrate with the help of chemical 
equations how Aishu might have completed the activity. 

- - - - - - - - - - - - - - 

For visually impaired students 

Give reasons for the following 

i. Certain metals are used for making cooking utensils. 
ii. Hydrogen gas does not evolve when certain metals except Mg & Mn 

react with nitric acid.  
 

28 Attempt either option A or B. 
A.  

(i) In the given series of reactions, name the compounds X and Z. 
(ii) Which type of reaction is X to Z?  

 
 

(iii) You are given 3 unknown solutions A, B, and C with pH values of 6, 8 
and 9.5 respectively. In which solution will the maximum number of 
hydronium ions be present? Arrange the given samples in the 
increasing order of H+ ion concentration. 

OR 
B. Comment on the following statements: 

(i) Bee sting is treated with baking soda paste whereas wasp sting is 
treated with dilute vinegar. 

(ii) Farmers treat soil with quicklime when tilling. 
(iii) Ancient sculptures and marble structures are conserved by treating 

them with certain chemicals.” 

3 

29 Water is used by the leaves of the plants for photosynthesis but rather than 
watering the leaves, we water the plant through the soil. How does this water 
reach the leaves of the plant?  

3 



30 A. In a family of four individuals, the father possessed long ears and the 
mother possessed short ears. If the parents had pure dominant and 
recessive traits respectively, then calculate the ratio of genetic makeup of 
F2 generation. Show a suitable cross.                                                       (2) 

B. If father had short ears and the mother had long ears, explain what effect 
it will have on the ratio of genetic makeup in F2 generation.                    (1) 

3 

31 A. What is the fundamental difference between hypermetropia and myopia 
in terms of the optical experience of a person? 

B. The diagram below shows a special case of an eye defect. 
(i) What is the defect that is shown in the figure? 
(ii) State one cause for such a defect? 
(iii) Explain with reason if a concave lens can be used to correct the 

defect. 

 
- - - - - - - - - - - - - - 

For visually impaired students  

A. What is the fundamental difference between hypermetropia and myopia 
in terms of the optical experience of a person? 

B. What are the causes of myopia in the human eye? 

3 

32 A. State the relationship between the resistance R of a wire to its length l 
and cross sectional area A. Use the mathematical symbols to arrive at 
the final formula. 

B. Using the formula define the resistivity of a material. 

3 

33 

 
Mona was doing an experiment with a magnetic compass and a straight 
current-carrying wire. She observed that as she moved the compass away 
from the current-carrying wire, the deflection of the compass needle reduced. 
A. Explain why the deflection of the compass needle reduced as Mona moved 

away the compass needle from the current carrying wire. 
B. Mention one thing that could have changed in the circuit of the wire that 

could increase the deflection of the needle. 
C. Explain with reason what will be the direction of the magnetic field 

associated with the wire for the case described by the above figure. 

3 



Section-D 
Question No. 34 to 36 are long answer questions. 

34 
Attempt either option A or B. 

A.  

(i) “Keerthi thinks that Substitution reaction occurs in saturated 
Hydrocarbons, on the contrary Krishi thinks, it occurs in unsaturated 
Hydrocarbons.” Justify with valid reasoning whose thinking is correct. 

(ii) “Methane and Propane and their Isomers are used as fuels” Comment. 
Draw the electron dot structure of the immediate lower homologue of 
Propane.  Give any two characteristics of homologues of a given 
homologous series. 

(iii) A mixture of oxygen and ethyne is burnt for welding. Can you predict 
why a mixture of ethyne and air is not used? 

OR 

B.   
(i) ‘A’ & ‘B’ are sodium salts of long-chain carboxylic acid and long chain 

Sulphonic acid respectively. Which one of A or B will you prefer as a 
cleansing agent while using underground water (hand pump water)? 
Give the reason for your answer. 

(ii) Elaborate on the process of cleansing action.  Illustrate micelle with the 
help of labelled diagram. 

(iii) Write the chemical equation of the preparation of soap from an ester 
CH3COOCH3. What is the name of this process? 

5 

35 Attempt either option A or B. 

A. The image below shows a banana plant which is growing with the help of 
suckers. These suckers are small plant stem outgrowths which can be 
separated from the main plant and planted separately and they will grow 
into a new plant subsequently.  

 

 
Fig.-1-Parts-of-Banana-plant-FAO-2021.png (623×609) (wp.com) 

(i) Give the name and type of reproduction that is shown in the image 
above.                                                                                                  (1)  

5 
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(ii) List two advantages the farmer will have on using the type of 
reproduction mentioned above.                                                            (2)  

(iii) The above plant produces male flowers. Explain how this plant will be 
involved in the process of pollination.                                                       (1)  

(iv) Why is the offspring of this banana plant not absolutely identical to its 
parent plant?                                                                                          (1) 

- - - - - - - - - - - - - - 

For visually impaired students  

A. A banana plant is growing with the help of suckers. These suckers are 
small plant stem outgrowths which can be separated from the main plant 
and planted separately and they will grow into a new plant subsequently. 

(i) Give the name and type of reproduction.                                                       (1) 
(ii) List two advantages the farmer will have on using the type of 

reproduction mentioned above.                                                            (2) 
(iii) The above plant produces only male flower. Explain how this plant will 

be involved in the process of pollination.                                                             (1) 
(iv) Why is the offspring of this banana plant not absolutely identical to its 

parent plant?                                                                                          (1) 
OR 

B. The image below shows a developing fetus in the mother's womb. The 
developing fetus is connected to the placenta by means of umbilical cord. 
The Umbilical vein and artery run inside the umbilical cord.  

 

(i) Name two substance that moves through the blood vessels.            (1)  
(ii) If the placenta has less villi how will it affect the baby’s growth?          (1)  
(iii) Name the region where the embryo develops inside the female body. 

Explain how this region is adapted for nourishing the baby.                (1)  
(iv) Some of the fetal cells fall off into the amniotic fluid and can be 

collected by careful procedure. The cells were screened and found to 
contain XY chromosome.  (2) 

a) What is the sex of the foetus? 
b) How is this prenatal sex determination misused?  

- - - - - - - - - - - - - - 

For visually impaired students 

B. A developing fetus is connected to the placenta by means of umbilical cord. 
The Umbilical vein and artery run inside the umbilical cord.  



(i) Name two substance that moves through the blood vessels.            (1)  
(ii) If the placenta has less villi how will it affect the baby’s growth?           (1)  
(iii) Name the region where the embryo develops inside the female body. 

Explain how this region is adapted for nourishing the baby.                   (1)  
(iv) Some of the fetal cells fall off into the amniotic fluid and can be 

collected by careful procedure. The cells were screened and found to 
contain XY chromosome. 

a) What is the sex of the foetus? 
b) How is this prenatal sex determination misused?                                    (2) 

36 Attempt either option A or B. 
 
A.  

 
 
 
 
 
 
 
 
 
 

The above circuit is a part of an electrical device. Use the information 
given in the question to calculate the following. 
(i) Potential Difference across R2. 
(ii) Value of the resistance R2. 
(iii) Value of resistance R1 

 

OR 

B.  

 
As shown in the figure above A and B are two lamps. Lamp A is rated at 12 V, 
24W. Lamp B is rated at 6.0 V. When lamp B operates at its rated voltage, the 
current in it is 3.0 A. The values of R1 and R2 are chosen so that both lamps 
operate at their rated voltages.  
Based on the information given, answer the following. 

(i) Calculate the current in Lamp A. 
(ii) State and give reason for the reading of the Voltmeter. 
(iii) Calculate the resistance of R2.  
(iv) Find the value of the resistance R1. 
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- - - - - - - - - - - - - - 

For visually impaired students  

A.  
(i) State the law and write the formula connecting the electric current 

flowing through a conductor and voltage applied across it. 
(ii) In a household five fans each of 100W are used for 4 hours and an 

electric press of 500W for 2 hours every day. Calculate the cost of 
using tube-lights and electric press for 60 days if the cost of 1 unit of 
electrical energy is Rs. 6.5.  

OR 
B.  

(i) State Joules law of heating and write its mathematical expression. 

(ii) Two resistors of resistances 2𝛺 and 4𝛺 are connected in  
a) series 
b) parallel 
with a battery of given potential difference. Compute the ratio of total 
quantity of heat produced in the combination in the two cases if the 
total voltage and time are kept the same for both. 

Section – E 
Question No. 37 to 39 are case-based/data -based questions. 

37 

 

A. Derive the names of A, Y, Z, M, P & R 

Attempt either subpart B or C.  

B. Improvise an activity to test Z. 

     OR 

C. Name the process in which compounds X, Y & Z are formed from A.  
Justify your response. 

- - - - - - - - - - - - - - 

For visually impaired students  

 4 



A. Distinguish between ethanol and ethanoic acid experimentally. 

Attempt either subpart B or C. 

B. Give the IUPAC name of the first member of Alkene which is formed by 
addition of conc. sulphuric acid to it. Illustrate the change with the help 
of a chemical equation. 

           OR 

C. “All combustion reactions are oxidation but all oxidation reactions are 
not combustion.” Justify. 

38 Mohan and Rohit observed that shoots of a plant growing in shade bend 
towards the sunlight. Whereas, leaves of ‘Touch me not’ plant fold and droop 
soon after touching. They were curious to know how these movements occur 
in plants. 

 
 

A. Shoots of a plant bending towards light 

 

B. Folding of leaves Touch me not plant 
 

In order to help them understand the movements in the plants, answer the 
following questions: 

Attempt either subpart A or B. 

A. What causes the bending of shoots in the plants as shown in figure A? 

           OR 
B. What causes the folding of the leaves in ‘Touch me not’ plant as shown 

in figure B?                                                                                          (2) 
C. Compare the movement of growth of the pollen tube towards ovule with 

the movements shown in part A of the above figure.                           (1) 
D. Compare the movement shown in figure B with the movement of body 

parts in the animals.                                                                             (1) 
 

4 



- - - - - - - - - - - - - - 

For visually impaired students  
 
During a field trip, Mohan and Rohit observed that shoots of sunflower plants 
bend towards the sunlight. Whereas, leaves of ‘Touch me not’ plant begin to 
fold and droop soon after touching even during the day. They were curious to 
know how these movements occur in plants. 

Attempt either subpart A or B. 

A. What causes the bending of shoots in the sunflower plants towards 
sunlight? 
OR 

B. What causes the folding of the leaves in ‘Touch me not’ plants when 
touched by hand?                                                                                (2) 

C. Compare the movement of growth of the pollen tube towards ovule with 
the bending of shoots of sunflower plant towards sunlight.                 (1) 

D. Compare the movement in folding of leaves of ‘Touch me not’ plants with 
the movement of body parts in the animals.                                          (1) 

39 

 

The above image is that of a reflecting telescope. Reflecting telescopes 

revolutionised our ways of looking into the sky. They employ mirrors to gather 

and focus light, rather than relying solely on lenses as in their refracting 

counterparts. These telescopes utilise precisely shaped and polished mirrors 

to capture incoming light and reflect it to a focal point, where it forms an image 

for observation.  

A. What kind of image of the star is seen by the observer at the eyepiece? 

B. What kind of mirror is used in this reflecting telescope? 

Attempt either subpart C or D. 

C. Explain with reason what kind of optical device (type of lens or mirror) 
that is used at the eyepiece. 

OR 

D. What is the role of the plane mirror in the telescope? 

- - - - - - - - - - - - - - 

For visually impaired students  
 
Azim Taraporewala was a traveller and science enthusiast. During one of his 

4 



travels he found himself on the edge of an island without any mode of 
communication. As he had read in many stories, he thought he would light a 
fire on the beach and travelling boats or ships could see that fire and come to 
give him a ride. He had run out of lighters and match-sticks but had a reading 
glass. Being a science enthusiast he knew some tricks and used that lens and 
a scrap of paper to light a fire, with the help of scorching rays from the sun.  

A. Which lens can be used by Azim to create the fire? 

B. What property of the lens helps Azim to create the fire? 

Attempt either subpart C or D. 

C. List two more uses of this kind of lens. 

OR 

D. Explain with reason the condition under which the lens can form both 
real as well as virtual images. 

 

*********** 


